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INTRODUCTION



History+ for Edexcel A Level: Communist states in the twentieth century supports Edexcel’s Route E. Specifically, it supports the following papers:





•  Paper 1E: Russia, 1917–91: from Lenin to Yeltsin



•  Paper 2E.1: Mao’s China, 1949–76



•  Paper 2E.2: The German Democratic Republic, 1949–90





About the course


Your overall A level History course for the Edexcel specification includes three externally examined papers and coursework. If you are studying AS History, there are two externally examined papers. The papers are:





•  Paper 1: Breadth study with interpretations (AS and A level)



•  Paper 2: Depth study (AS and A level)



•  Paper 3: Themes in breadth with aspects in depth (A level only).





This book covers the breadth study with interpretations ‘Russia, 1917–91: from Lenin to Yeltsin’ and two depth studies of which you must study one: ‘Mao’s China, 1949–76’ or ‘The German Democratic Republic, 1949–90’.


How to use this book


This book had been designed to help you develop the knowledge and skills necessary to succeed in Paper 1 and Paper 2.


The book divides into three main parts, dealing with Paper 1, Paper 2.1 and Paper 2.2 respectively. The structure of each part parallels the structure of the specification. Therefore:





•  Paper 1 has four themes, each divided into three chapters, and a final section dealing with the historical interpretation, again divided into four chapters. Each theme and historical interpretation begins with a Big Picture, setting the scene for the material which follows.



•  Paper 2 starts with a Big Picture overview of the whole period and then is divided into four chapters dealing with the four key topics of the specification.





Each chapter begins with an overview of the theme, topic or interpretation discussed to set it in context, and ends with a chapter summary to help with revision of the key points included in the chapter. Summary diagrams at the end of chapters should also help with revision.


There are a series of other features throughout the book to aid your understanding of the period and develop your essay writing skills.


Essay writing skills


There are features throughout the book to help develop your essay writing skills. The skills developed by the book will directly relate to the skills necessary to do well in the AS and A level exams.


Essay technique sections at the end of chapters develop essay skills. These include how to:





•  focus on the question



•  structure your answer



•  deploy detail



•  analyse



•  create and sustain a balanced argument





and, where necessary, how to approach the sources and extracts that accompany some exam questions.


Practice questions provide exam-style questions so that you can practise answering questions related to the different topics and themes that you study.


Help with note making


On page ix there is a series of note-making styles, which you can use as you work through the book. These are designed to ensure that your note making is clear, and sets you up to revise for the exam.


Note it down activities appear throughout the book to guide your note taking. They sometimes refer back to the note-making styles outlined at the beginning of the book.


Work together


The book also contains work together activities. These consist of activities designed to help you work together to check your understanding of the topics as you go along.



Extended reading



In addition to the traditional textbook narrative, this book contains four specially commissioned essays from practising academic historians. These address the historical interpretation and are designed to introduce you to the historical debate in a way that is directly related to the exam.


Recommended reading


You can find recommended reading sections throughout the book. These are designed to point you in the direction of both classic works on the subject and examples of more recent historical writing.


About the exam


The A level exam


The A level comprises three papers and coursework. Papers 1 and 2 are examined at the same time as part of the same route. Paper 1 is worth 30 per cent of the total A level and Paper 2 is worth 20 per cent. Paper 3 is examined separately and is worth 30 per cent, with the coursework making up the final 20 per cent of marks. This section looks at Paper 1 and Paper 2, as these are the papers this book supports.


Paper 1


The Paper 1 exam paper is divided into three parts: Section A, Section B and Section C. The different sections will test different skills and aspects of the history you have studied.


Sections A and B test your knowledge of the period 1917–85. The questions test your breadth of knowledge of four key themes:





•  Communist government in the USSR, 1917–85



•  Industrial and agricultural change, 1917–85



•  Control of the people, 1917–85



•  Social developments, 1917–85.





Section C tests your depth of knowledge regarding a historical interpretation.


Sections A and B


Sections A and B test the breadth of your knowledge, and each section requires you to write an essay. In both Sections A and B you have to answer one question from a choice of two.


Section A of the exam paper contains two questions, of which you are required to complete one. Questions in Section A will test the breadth of your knowledge by focusing on at least ten years.


Section B of the exam paper also contains two questions, of which you are required to complete one. Questions in Section B will test the breadth of your knowledge by focusing on at least one-third of the period you have studied: c.23 years.


Neither Section A nor Section B requires you to read or analyse either sources or extracts from the work of historians.


Section A and B questions require you to deploy a variety of skills. The most important are focus on the question, selection and deployment of relevant detail, analysis and, at the highest level, prioritisation.


Questions in Sections A and B will focus on one of the following concepts:





•  cause



•  consequence



•  change/continuity



•  similarity/difference



•  significance.





Therefore the questions will typically begin with one of the following stems:





•  How far …



•  How accurate is it to say …



•  To what extent …



•  How significant …



•  How successful …





Section C


Section C of the exam paper is different to Sections A and B. While Sections A and B test your own knowledge, Section C tests your own knowledge and your ability to analyse and evaluate interpretations of the past in the work of historians. Therefore Section C contains two extracts from the work of historians. Section C of the exam contains one compulsory question.


Section C focuses on an interpretation related to the following controversy:


What explains the fall of the USSR, c.1985–91?


It looks at the following aspects of the potential crisis:





•  The significance of the economic weaknesses of the USSR and the failure of reform



•  The effects of Gorbachev’s failure to reform the Communist Party and the Soviet Government



•  The impact of the national resurgence in the late 1980s in the Soviet republics and in the communist states of Eastern Europe



•  How far Gorbachev and Yeltsin can be seen as responsible for the collapse of the USSR in 1991.





Section C tests your ability to analyse and evaluate different historical interpretations in the light of your own knowledge. Therefore it tests a variety of skills including:





•  identifying the interpretation



•  writing a well-structured essay



•  integrating own extracts with own knowledge



•  reaching an overall judgement.





Paper 2


Paper 2 is a depth paper. This means that the questions will test your knowledge of short periods of history.


The key topics of Mao’s China, 1949–76 are:





•  Establishing communist rule, 1949–57



•  Agriculture and industry, 1949–65



•  The Cultural Revolution and its aftermath, 1966–76



•  Social and cultural changes, 1949–76.





The key topics of The German Democratic Republic, 1949–90 are:





•  Establishing and consolidating communist rule in the GDR, 1949–61



•  The development of the East German state, 1961–85



•  Life in East Germany, 1949–85



•  Growing crises and the collapse of communist rule in the GDR, 1985–90.





The Paper 2 exam is divided into two sections. Section A is a source question while Section B requires you to write an essay from your own knowledge.


Section A


In the A level paper questions in Section A require you to analyse two primary sources. They will typically be phrased in the following way:


How far could the historian make use of Sources 1 and 2 to investigate [x]?


You are required to use the sources, your own knowledge and the information given about the sources. You might consider the following:





•  what the sources would tell the historian about the topic



•  how nature, origin and purpose of the sources could give the historian more information about the critical stance of the author, as well as some evidence about usefulness



•  how you can use your knowledge of the historical context to support or develop inferences made from the sources, and to either confirm the accuracy or limitations of information within them or to note limitations and challenge the accuracy of the source



•  what you could say about the two sources in combination.





Section B


You should answer questions in Section B in the form of an essay. The questions can focus on the following concepts:





•  cause



•  consequence



•  change/continuity



•  similarity/difference



•  significance.





The questions can begin with the following question stems:





•  How far …



•  How accurate is it to say …



•  To what extent …





The AS level exam


The AS level exam comprises two papers. Paper 1 is worth 60 per cent of the total A level and Paper 2 is worth 40 per cent.


Paper 1


The AS level exam tests all of the same content as the A level exam and is structured in exactly the same way. However, there are differences between the two exams:


Sections A and B


There are three key differences between A level and AS level in Sections A and B:





•  Wording: The wording of AS level questions will be less complex than the wording of A level questions. Specifically, there are likely to be fewer adjectives or qualifying phrases in the question. For example:









	A level-style question

	AS level-style question






	How accurate is it to say that in the years 1928–1980, the government of the USSR relied wholly on repression?

	Was repression the main reason for the survival of the Communist government in the USSR in the years 1928–1980? Explain your answer.










•  Focus: Section A questions can focus on a more limited range of concepts at AS than at A level. Specifically, at AS level Section A questions can only focus on cause and consequences (including success and failure), whereas A level questions can focus on a wider variety of concepts.



•  Mark scheme: The A level mark scheme has five levels, whereas the AS level mark scheme only has four. This means that full marks are available at AS for an analytical essay, whereas sustained analysis is necessary for full marks at A level.





Section C


Section C of the AS level exam focuses on the same aspects of the same debate:


What explains the fall of the USSR, c.1985–91?


As in the A level exam you have to answer one compulsory question based on two extracts. The AS level exam is different from the A level exam in the following ways:





•  The question: The AS level question is worded in a less complex way than the A level question. For example:









	A level-style question

	AS level-style question






	In the light of differing interpretations, how convincing do you find the view that the USSR collapsed because ‘rather than strengthen the Soviet state, glasnost eventually suggested that the Soviet Government was no longer sustainable’. To explain your answer, analyse and evaluate the material in both extracts, using your own knowledge of the issues.

	Historians have different views about the reasons for the fall of the Soviet Union. Analyse and evaluate the extracts and use your knowledge of the issues to explain your answer to the following question. How far do you agree with the view that the collapse of the Soviet Union came about because of Gorbachev’s political reforms?










•  The extracts: At AS level the extracts will be slightly shorter and you may get extracts taken from textbooks as well as the work of historians. In this sense the extracts at AS should be slightly easier to read and understand.



•  The mark scheme: The A level mark scheme has five levels, whereas the AS level mark scheme only has four. This means that full marks are available at AS for an analytical essay, whereas sustained analysis is necessary for full marks at A level.





Paper 2


The AS level exam tests all of the same content as the A level exam and is structured in a similar way. However, there are differences between the two exams:


Section A


Section A of the AS level exam is structured in a different way to the A level exam. In essence, Section A at AS tests the same skills as Section A at A level, but over two questions rather than one.


The AS level Section A is divided into Part (a) and Part (b).


Part (a) contains one compulsory question related to a single source. Part (a) asks you to consider how the source is of value to a historian who is engaged in a specified enquiry.


The question requires you to reach a judgement about the ways in which Source 1 is valuable. In that sense the question is not primarily about looking for the ways in which the source is unreliable. Examiners are looking for the following skills:





•  detailed contextual knowledge that explains the meaning of relevant points made by the source



•  valid inferences



•  an overall judgement about the value of the source related to valid criteria.





Part (b) contains one compulsory question related to a single source. Part (b) asks you to consider how much weight to a source for a specified enquiry. Therefore Part (b) requires you to consider the value and the limits of the source.


Part (b) tests your ability to:





•  comprehend and analyse source material



•  use historical knowledge to weigh the value of the source



•  reach a judgement, based on valid criteria, about the value of the source.





Section B


Section B of the AS level exam tests the same content knowledge as Section B of the A level exam. Section B comprises three questions, of which you must complete one.


Paper 2 Section B questions are very similar to Paper 1 Section B questions (see page vii). The key difference relates to the period on which the question focuses. Paper 2 examines your knowledge of depth. Therefore Section B questions can focus on a single event or a single year. Alternatively they might focus on the whole chronology of the course.





Note taking


Good note taking is really important. Your notes are an essential revision resource. What is more, the process of making notes will help you understand and remember what you are reading.


How books work


Most books are written as clearly as possible. Therefore writers use a variety of techniques to help you learn.


Authors often break up their work into key points (the most important ideas and themes) and supporting evidence (the details that support the key points). Key points are usually general statements. For example, a key point might be ‘During the Civil War the government increasingly became a party-state based on the Communist Party.’ The supporting evidence might be a list of detailed examples that indicate the key point is correct.


How to make notes


Most note-making styles reflect the distinction between key points and supporting evidence. Below is advice on a variety of different note-making styles. Throughout each section in the book are note-making activities for you to carry out.


Hints and tips


The important thing is that you understand your notes. Therefore you don’t have to write everything down, and you don’t have to write in full sentences.


While making notes you can use abbreviations:






	Full text

	Abbreviation






	Communist Party
New Economic Policy
Civil War
Lenin
First World War

	CP
NEP
CW
L
WW1







You can use arrows instead of words:






	Full text

	Arrow






	Increased
Decreased

	↑
↓







You can use mathematical notation:






	Full text

	Mathematical notation






	Equals

	=






	Plus, and

	+






	Because
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	Therefore

	∴







Here is an example:






	Text

	Notes






	The Crisis of 1921, which included rebellion among the peasants, workers’ strikes and military mutiny, showed the extent of opposition to Lenin’s government and therefore forced Lenin to reform.

	Crisis 1921 = ↑ opposition ∴ L made reforms







Note-making styles


There are a large number of note-making styles. You can find examples of four popular styles below. All of them have their strengths. It is a good idea to try them all and work out which style suits you.


The examples below are of notes taken from Chapter 1 on page 4.


Style 1: Bullet points
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Bullet points can be a useful method of making notes because:





•  they encourage you to write in note form, rather than in full sentences



•  they help you to organise your ideas in a systematic fashion



•  they are easy to skim read later



•  you can show relative importance visually by indenting less important, or supporting points.








[image: ]





1  Scan the section before you read it in depth. Identify headings (points of explanation). Significantly, you should try looking for the key points in the first sentence of each paragraph. On your page of notes, set the key points out in sections.



2  Now read carefully through the section. Write supporting points or points of evidence under the relevant headings.





The end result should look like this:
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Key features of Russia before 1917




•  Empire ruled by all-powerful Tsars


•  Repression widespread


•  Weak rural economy: poverty + little industry


•  Underground opposition (RSDLP) (SRs)


•  Impact of WW1 – economic chaos =







1  Feb Rev. = Prov. gov



2  Oct. Rev = L + Bolsheviks take power
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Style 2: The 1:2 method
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The 1:2 method is a variation on bullet points. The method is based on dividing your page into two columns: the first for the main point, the second for supporting detail. This allows you to see the structure of the information clearly.
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1  Divide your page like in the example below:
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2  Write the key points in the left-hand section.



3  Write the supporting detail in the right-hand section.





The end result should look like this:






	Key points

	Supporting detail






	Russia before 1914

	




•  Powerful Tsars ruled; 1884–1917 = Nicholas II



•  Empire – Russia, Ukraine, Georgia, Finland, Estonia



•  Repression widespread – e.g. Lena Goldmine massacre 1912



•  Little modern industry: 2.4m/140m industrial workers



•  Opposition – underground; aim to overthrow Tsar + end poverty, e.g. RSDLP and SRs












Style 3: Spider diagrams
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Spider diagrams or mind maps can be a useful method of making notes because:





•  they will help you to categorise factors; each of the main branches coming from the centre should be a new category



•  they can help you see what is most important; often the most important factors will be close to the centre of the diagram



•  they can help you see connections between different aspects of what you are studying; it is useful to draw lines between different parts of your diagram to show links



•  they can also help you with essay planning; you can use them to quickly get down the main points and develop a clear structure in response to an essay question.
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1  Draw a circle in the middle of your piece of paper. It should be large enough to contain the section title.



2  Scan the section and identify headings. Draw lines out from your central circle – remember to leave plenty of room between them so that you can fit in all of your notes.



3  Read through the section carefully. Write supporting points or points of evidence under the relevant headings.





The end result should look like this:
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Style 4: Index cards


[image: ]




Index cards are particularly useful when you are revising for your exam, or when you are planning your essays.


Revision


Index cards are small and therefore they encourage you to prioritise by forcing you to note down only the most important information.


Essay planning


You can use index cards to help plan essays in the following way. First, select all of the cards that are relevant to your essay. Arrange the cards in order to develop a structure for your essay. Rearranging the cards can also help work out the best structure for your essay.
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1  Scan through the section. Identify either themes or important sub-sections. Use a different index card for each sub-section. On one side of each index card write:







    – the title of the main section in the top left corner in one colour


    – the title of the sub-section that you are currently reading about in the middle of the index card in another colour.
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2  Now read the section carefully. On the back of each index card bullet point the relevant notes.
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3  You can punch a hole in the corner of the cards and tag-tie the cards for each section together.







Paper 1 Russia, 1917–91: from Lenin to Yeltsin


Theme 1 Communist government in the USSR, 1917–85


The Big Picture


The story of communist government in Russia is one of rise, transformation and decline.


At first, under Lenin, the new government was radical, uncompromising and revolutionary. Lenin overthrew the existing government, fought a bitter civil war, and created a wholly new type of government. Lenin claimed he was establishing a government of the workers. However, Lenin’s Russia was a mix of a utopian vision and skilful political compromise. Therefore, in order to ensure the survival of the new government at all costs, Lenin’s government was based much more on administrators and bureaucrats than it was on working people. Fundamentally, Lenin’s government was based on the Communist Party. In fact Lenin established a one-party state which guaranteed the supremacy of the Communist Party within Russian Government.


Stalin started a revolution of his own. His ‘revolution from above’ was designed to build on Lenin’s achievement. Lenin had ended capitalism, but Stalin would begin the world’s first serious attempt to create a socialist society. Stalin’s revolution made Russia an economic giant. But it also created a totalitarian state: a government based on terror, propaganda and a cult of personality.


After Stalin’s death Khrushchev attempted to reform the Russian Government. Communism in Russia became more humane – people were no longer sent to labour camps or executed in such large numbers. After the horrors of Stalinism, Khrushchev wanted to revive popular faith in Communism. But Khrushchev’s reforms had the potential to destabilise communist rule in Russia. Consequently, in order to protect the power of the Party, Khrushchev was replaced by Brezhnev, a leader that the Communist Party could rely on to protect its position. Under Brezhnev, Communism in Russia lost its revolutionary energy and finally completed its journey from revolutionary movement to party of government. Brezhnev’s greatest strength was also his greatest weakness: his ability to guarantee stability meant that he was unable to reform. Between 1982 and 1985, Russia’s final leaders struggled with the same problems that had faced Khrushchev and Brezhnev: how could the Communist Party reform without abandoning the one-party state created by Lenin?
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In this theme you will consider the following.




•  How Lenin and the Communist Party won and consolidated power, 1917–24:
The changing nature of Lenin’s government from the October Revolution, through the Civil War to Lenin’s death.


•  Russia under Stalin, 1928–53:
The elimination of Stalin’s opponents, the Great Terror and the creation of a personal dictatorship.


•  Communist government, 1953–85:
Khrushchev’s attempts to reform the Communist Government, Brezhnev’s attempts to stabilise communist rule, and the growing political difficulties of the Communist Government under Andropov and Chernenko.
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TIMELINE






	1914

	Russia enters the First World War






	1917 February

	The February Revolution overthrows the Tsar






	1917 March

	a Provisional Government is established






	1917 October

	The October Revolution overthrows the Provisional Government. Lenin establishes Sovnarkom.






	1918–1921

	Increasing political centralisation during the Russian Civil War. Lenin disbands Constituent Assembly






	1921

	Opposition political parties banned. The Communists triumph in the Civil War. Russia becomes a one-party state






	1921 March

	Party Congress bans factions.






	1924 January

	Lenin dies






	1928

	Stalin emerges as leader of Russia






	1934 January

	Private criticism of Stalin expressed at the Congress of Victors






	1934 December

	Kirov is murdered in Leningrad






	1935

	The Great Terror begins with a purge of the Leningrad Communist Party






	1936 August

	Stalin removes high profile opponents in the first of Moscow show- trials






	1936 September

	Yezhov becomes head of the secret police. The Great Terror intensifies






	1953 March

	Stalin dies






	1956 February

	Khrushchev’s secret speech – beginning of widespread de-Stalinisation






	1957 July

	Greater freedom of expression is permitted following the World Festival of Youth and Students






	1964 October

	Khrushchev removed from office. Brezhnev begins to reverse Khrushchev’s reforms






	1966 December

	New criminal code tightens laws on political dissent






	1975

	Brezhnev becomes increasingly ill and unable to govern effectively






	1976 February

	Brezhnev fails to introduce reforms at the Twenty-Fifth Party Congress, in spite of growing economic, social and political problems






	1982 November

	Andropov initiates reforms to tackle corruption






	1984 February

	Andropov dies and is replaced by Chernenko before his reforms had taken effect










1a: Establishing Communist Party control, 1917–24
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Overview


Russia experienced two revolutions in 1917. The first led to the downfall of the Tsar – the head of the royal family. The second led to the creation of a radical new form of government which promised freedom and equality for Russia’s working people. In order to achieve this, revolutionary leader Lenin constructed a new government. At first, Lenin promised a democratic government, which would be based on the support of all working people. Lenin’s first actions were truly popular, reflecting long-standing desires of Russia’s workers, peasants and soldiers. However, Lenin’s new government was also ruthless, and from the very start it terrorised its opponents. Moreover, for Lenin, democracy was less important than his desire to maintain control. Therefore, when his party lost elections Lenin disregarded the results.


Lenin abandoned democracy altogether during Russia’s Civil War, and the new government became increasingly centralised and authoritarian. Lenin’s victory in the Civil War did not lead to the restoration of democracy. Rather, Lenin outlawed rival political parties and by 1921 had created a radically new kind of government: a one-party state. However, it was highly centralised and authoritarian, and therefore nothing like the free and democratic society that he had promised in 1917.


This chapter examines the creation of the communist one-party state through the following sections:





1  Background to the Bolshevik Revolution



2  Lenin’s state, 1917–18



3  The impact of the Civil War, 1918–21



4  1921: Crisis and reform



5  Conclusion: Lenin’s legacy.
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1 Background to the Bolshevik Revolution


Before the revolutions of 1917 Russia was ruled by a series of all-powerful emperors. Tsar Nicholas II, Russian Emperor from 1894 until 1917, was widely regarded as more repressive than other European rulers. Repression was widespread and the vast majority of the Tsar’s subjects were impoverished and had no political rights. For example, hundreds of miners who protested for higher wages at the Lena goldmine in 1912 were brutally massacred by the Tsar’s troops. The Tsar’s empire extended beyond Russia and included the Ukraine, Georgia, Finland and Estonia.


While the government was strong, the economy was weak compared to that of Britain, Germany, the USA and other major powers. Russia had very little modern industry. Indeed, by 1913 only 2.4 million of Russia’s 140 million people worked in large factories. Nicholas II’s government tried to encourage economic growth, but it was only partly successful. What is more, even in periods of economic growth, the population as a whole remained extremely poor.


Political repression and massive economic inequality led to the growth of underground opposition to the Tsar. Around 1900 the two largest opposition parties were the Russian Social-Democratic Labour Party (RSDLP) and the Socialist Revolutionaries (SRs), both of which were committed to overthrowing the Tsar, liberating the people of the Russian Empire and ending poverty. However, neither group were able to organise effectively due to the Tsar’s political police, who routinely spied on these groups and arrested and exiled their leaders. Inspite of repression, Tsarism was rocked by the 1905 Revolution, a series of revolts that almost led to the overthrow of the Tsar. Political compromise and renewed repression ensured the survival of the regime until the First World War.


The First World War


Russia entered the First World War in 1914. Russia’s economy was incapable of providing the food and equipment necessary to fight the war. Additionally, the Tsar was an incompetent wartime leader. By early 1917 economic chaos, military defeat and political mismanagement led to the February Revolution: a popular uprising in Petrograd, Russia’s capital city that overthrew the Tsar and set up a Provisional Government.


The Provisional Government


Following the February Revolution, the Provisional Government introduced a series of reforms. The Tsar’s despotism was replaced by a liberal system, which included freedom of expression, freedom of assembly and freedom of religion. Additionally, the Provisional Government promised democratic elections to form a new government. However, the Provisional Government continued to fight the First World War.


Lenin, a radical member of the RSDLP, argued for a second revolution. Following his return from exile in April 1917, he demanded an immediate end to the First World War and the redistribution of land to the peasants. These demands were summarised in the slogan ‘Peace, Land and Bread’. As the Provisional Government continued to fight in the war and Russia’s economic problems grew worse, Lenin’s message became increasingly popular.


By October 1917 Lenin and his followers the Bolsheviks had enough support to overthrow the Provisional Government. Lenin and Trotsky (see page 7) seized the moment and organised a coup d’état, which allowed the Bolsheviks to take power.
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Note it down


Using bullet points (see page ix), make notes on the key features of Russia prior to 1917. As this is background you do not need a great deal of detail. Rather write a single bullet point on the key political, economic and social features of the period. Additionally, summarise the impact of the First World War on the Russian Government in a single bullet point.
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Lenin’s ideology


Lenin seized power because he believed that a global revolution was necessary to replace capitalism and imperialism with socialism: a new social system that would allow all people to be genuinely free and equal. This view was based on a Marxist view of history.


The Marxist view of history


Karl Marx was a German philosopher and revolutionary, who lived in the nineteenth century. He became famous for arguing that the workers should rise up and destroy capitalism in a revolution. Marx’s view of revolution was based on his theory of history. Marx argued that history had progressed through a series of stages, as Table 1 shows.
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Vladimir Ilyich Lenin, 1870–1924
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Vladimir Ilyich Lenin is one of the most famous revolutionaries of all time. Born in the late nineteenth century, he is remembered as the man who led the first successful communist revolution. Lenin’s early life was troubled by radical politics. Aleksandr, his older brother, was executed in 1887 for the attempted assassination of Tsar Alexander III. Following this, Lenin’s family were shunned by their community. As a student Lenin joined a radical socialist movement; this led to his expulsion from university for protesting in favour of student rights. In spite of this he continued to be involved in revolutionary politics. Even as a young man, Lenin was a natural leader and therefore tended to play a leading role in the underground radical groups he joined. As a result he was targeted by the police and in 1897, like many Russian revolutionaries, he was arrested and exiled.


Between 1899 and 1903, Lenin played a leading role in the foundation of the RSDLP – which became Russia’s most influential Marxist party. Lenin became leader of the Bolshevik faction of the RSDLP. Lenin, like many Russian radicals, wanted to transform Russia. He wanted to destroy the royal family, end the power of the Russian Church and create a modern nation, which embraced cutting-edge science and industry. In so doing, Lenin hoped to improve the lives of millions of working Russians who lived in poverty. Between 1903 and 1917 Lenin spent a great deal of time in exile. He was a brilliant writer and organiser, but he also had a reputation for being manipulative and for getting his way by scheming within the RSDLP.


Lenin’s personality affected his approach to politics. He could be extremely pragmatic and therefore willing to sacrifice important principles in order to safeguard his power. He enjoyed arguing with his colleagues and getting his own way. He also had a reputation for experiencing fits of rage – in fact his outbursts were so frequent towards the end of his life that his colleagues suspected he was mentally unstable. Finally, Lenin despised ‘sentimentality’; therefore he felt little sympathy for the suffering of others and was prepared to use violence and terror to achieve his goals.
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Table 1: Marx’s four stages of history.






	Primitive Communism

	Humans lived in a simple society where they hunted and gathered. There was no government and all people were essentially equal.






	Classical slavery

	In ancient Greece and Rome society was divided into masters and slaves. Society became more sophisticated, but was deeply unequal.






	Feudalism

	During the Middle Ages, society was controlled by noble families who owned the land and controlled the lives of the peasants who worked for them.






	Capitalism

	Following the Industrial Revolution, power passed to people who owned the new factories. Workers, the proletariat, were essentially powerless due to their extreme poverty.







Marx argued that progress from one stage to another occurred due to class conflict. For example, at the end of feudalism the new capitalist class overthrew the old feudal lords and established a new kind of society based on industry rather than on the control of land. Marx argued that the English, American and French Revolutions were examples of the victory of capitalism over feudalism.


Marx believed that capitalism would also come to an end. He argued that, following a workers’ revolution, capitalism would be replaced by socialism in Europe’s most advanced economies. Lenin believed that the chaos produced by the First World War provided an opportunity to overthrow capitalism across Europe.


The state and revolution


Marx’s writings did not contain a clear indication of how a revolution would be carried out, or what socialism would look like. Indeed, Marx’s writings were contradictory. In some places, Marx argued that a revolutionary government would be more democratic than a capitalist government; however, he also famously wrote about the ‘dictatorship of the proletariat’, which would use its power ruthlessly to destroy the power of capitalists. Lenin seems to have taken both of these ideas seriously.


2 Lenin’s state, 1917–18


Lenin’s new state changed over time. Initially, he embraced a radically democratic state. However, by the summer of 1918, the revolutionary state was much more authoritarian.
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Note it down


Using the 1:2 method (see page x) make notes on the following topics:





•  How did Lenin justify his new state?



•  How was Lenin’s new state structured?



•  How powerful was Lenin’s state between 1917 and 1918?



•  How democratic was Lenin’s state between 1917 and 1918?
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Creating a ‘soviet-state’


In October 1917, Lenin seized power on behalf of the soviets – small democratic councils that had emerged spontaneously in every town and village across Russia after the February Revolution. Between February and October 1917, the soviets played a key role in governing Russia. Additionally, the local soviets sent representatives to the All-Russian Congress of Soviets, which met in June 1917 to discuss Russia’s future. Lenin and other senior Bolsheviks argued that the All-Russian Congress of Soviets, which met for a second time in October, should become the basis of the new Russian Government. Indeed, the October Revolution formally handed power to the All-Russian Congress. However, as the All-Russian Congress was too big to meet regularly they elected the Council of People’s Commissars (Sovnarkom) to govern Russia on a day-to-day basis.


Sovnarkom


Sovnarkom was essentially the new Russian cabinet. The first Sovnarkom was made up of 13 People’s Commissars. Lenin was elected Chairman of Sovnarkom, and other Commissars included Leon Trotsky (see page 7), who was head of the People’s Commissariat of Foreign Affairs, and Joseph Stalin (see page 8), who was head of the People’s Commissariat of Nationality Affairs. All of the new Commissars were revolutionaries. The vast majority had supported Lenin since 1903. Many had worked with him in exile, and all had supported the Bolshevik seizure of power.
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Leon Trotsky, 1879–1940
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Before 1917 Trotsky was already a revolutionary hero due to his role in the failed 1905 Revolution. Trotsky and Lenin disagreed violently about politics before 1917. However, following the February Revolution they worked closely together until Lenin’s death. Trotsky played a leading role in the October Revolution and in the first years of Russia’s Communist Government. He also led the Communist’s Red Army to victory in the Civil War (see page 9). In spite of his brilliance, he was not universally popular among Lenin’s followers. He was viewed as arrogant and unreliable. Additionally, he was viewed as a threat, and therefore other senior members of the Party plotted successfully to expel him from the Party and from Russia.
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Lenin’s first government passed a series of decrees that were genuinely popular. Immediately following the October Revolution, Lenin gave a speech to the All-Russian Congress of Soviets. He proposed a series of decrees which the Congress of Soviets voted to approve:





•  the Decree on Land (October 1917), which gave peasants the right to seize land from the nobility and the Church



•  the Decree of Peace (October 1917), which committed the new government to withdrawing from the First World War and seeking peace.





Lenin continued to publish popular decrees for the first few months of the government, including:





•  Workers’ Decrees (November 1917), which established an eight-hour maximum working day and a minimum wage



•  the Decree of Workers’ Control (April 1918), which allowed workers to elect committees to run factories.





These early measures allowed Lenin to establish control over Russia in two main ways. First, the decrees won popular support for the regime from workers, peasants and soldiers. Second, ending the First World War gave the revolution what Lenin called ‘breathing space’ in which to begin to rebuild the economy and to start constructing a new government.


For the first few months, Sovnarkom had little real power. The October Revolution had occurred in Russia’s capital city, Petrograd. At first, it did not give Lenin control of Russia’s other major cities or the vast rural areas that made up the majority of Russia’s territory. Senior figures from the former government still had a great deal of power and refused to recognise Bolshevik authority. For example, in late November General Dukhonin, Chief of Staff of the Russian army, refused a direct order from Lenin to stop fighting and begin peace negotiations. Equally, the Russian State Bank and State Treasury went on strike immediately after the revolution, denying Lenin’s new government the funds that it needed to operate.


Initially, Sovnarkom was also extremely disorganised. This is evident from Lenin’s early appointments of People’s Commissars. For example, in the first few days of the new government, Stalin’s Commissariat for Nationalities was, in reality, just a desk in the corner of a room at the Smolny Institute, the building where Sovnarkom was originally based.


Equally, Vyacheslav Menzhinsky’s Commissariat of Finance was initially nothing more than a sofa with a large piece of paper pinned to it bearing the words ‘Commissariat of Finance’. Lenin’s government would need to fight a civil war before it had genuine control of the whole of Russia.


How democratic was Russia in 1918?


Lenin and the Bolsheviks claimed that the new government was truly democratic. Lenin argued that the new state was based on committees of working people who participated in government on a day-to-day basis. He claimed the soviet-state was more democratic than the systems in Britain, the USA and France where people merely voted once every four or five years. This commitment to people power was also reflected in the title of the new leaders, who were known as People’s Commissars. Trotsky suggested this title in order to demonstrate the revolutionary nature of the new government. In so doing, he deliberately used the terms that were associated with the government that took power after the French Revolution.


Broad-based support


There is clear evidence that the new government was genuinely democratic. For example, the first decrees were genuinely popular and reflected what the majority of the workers, peasants and soldiers wanted. Equally, in 1918 Russia was not yet a one-party state. According to the Constitution of 1918, Sovnarkom was responsible to the Congress of Soviets – which contained representatives of many political parties including the Bolshevik’s main rivals, the Mensheviks, and the Socialist Revolutionaries (SRs). What is more, a faction of the SRs supported the new government and some SRs initially had junior roles in the new government.
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Joseph Stalin, 1878–1953
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Prior to the October Revolution Stalin was one of a number of dedicated revolutionaries who spent long periods in exile due to their political beliefs. Born in Gori, Georgia, then part of the Russian Empire, the young Stalin trained as a Christian priest. However, after reading the work of Marx, he abandoned the Church in favour of revolution.


Stalin was one of the first members of the revolutionary RSDLP in Georgia and from 1906 was a regular at RSDLP Party Congresses, becoming known to Lenin. Stalin was not regarded as an outstanding speaker or as a gifted intellectual, but was respected as a capable administrator. Lenin valued his loyalty. Consequently, he became part of Lenin’s inner circle and played small but important roles in the October Revolution and the Civil War (see page 9). Stalin was highly ambitious and once in power his desire to dominate the Party and punish his opponents became evident.
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One of the reasons that there was broad-based support for the new government in Petrograd and Moscow was the belief that it would become a coalition government representing all of Russia’s main socialist parties. Indeed, moderates within the Bolshevik Party, such as Zinoviev and Kamenev, argued that Lenin should form a coalition government and work with other political parties. However, when Bolshevik moderates were unable to persuade Lenin to compromise they resigned in protest. As a result, by November, Lenin’s new government was dominated by people who wanted the Bolshevik Party to govern alone.


Additionally, there was genuine support for a Bolshevik-dominated government among the workers of Petrograd in the early days of the revolution. For example, the Petrograd Trades Union Council, which met on 31 October, and the First Conference of Female Factory Workers, which met on 5 November 1917, both gave their full support to the new Bolshevik Government. They supported Lenin’s early decrees and the courage the Bolsheviks had shown by overthrowing the Provisional Government in the October Revolution.


The Constituent Assembly


In January 1918, there was a clear indication that Lenin was turning against democracy. Specifically, Lenin refused to recognise the results of a nationwide election held in November 1917. The election created a Constituent Assembly with a Bolshevik minority, which met for the first time in January 1918. Lenin closed the Constituent Assembly by force after only one day, claiming that it posed a threat to the power of the soviets.


However, Lenin was also willing to disregard the soviets. In March 1918, Lenin approved the Treaty of Brest-Litovsk, which gave away a significant proportion of Russian territory to the Central Powers in order to end Russia’s involvement in the First World War. The treaty was extremely unpopular and therefore the Bolsheviks lost the soviet elections across Russia in April and May 1918. In order to retain power, Lenin refused to recognise the results, arguing that the elections had not been fair. Moreover, Mensheviks and the Socialist Revolutionaries were expelled from the soviets. Lenin demanded new elections, but quickly postponed them due to the outbreak of the Civil War. Nikolai Bukharin, the official Bolshevik Party theorist, argued that ‘formal democracy’, by which he meant elections to the soviets, had to be abandoned in order to win the Civil War. As a result of the abolition of the Constituent Assembly and Lenin’s refusal to recognise the results of new soviet elections, Lenin was able to consolidate Bolshevik power. However, it became more difficult to argue that the new government was democratic.
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How democratic were the early decrees?


Many of Lenin’s early decrees were extremely popular. However, it could be argued that Lenin was forced to be democratic, because, in the early days, the new government had very limited power. Therefore Lenin was forced to allow the peasants to seize land, and the workers to take control of their factories. In this sense, rather than extending the rights of Russian people, the early decrees merely authorised what was already taking place.
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3 The impact of the Civil War, 1918–21



The Russian Civil War (1918–21) allowed Lenin to establish communist control over the whole of Russia. Moreover, it radically changed the nature of the Bolshevik Party (renamed the Communist Party in 1918), and the new government. The Civil War led to the creation of a ‘party-state’ and, as a result of the Civil War, the state became increasingly authoritarian and centralised.
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Note it down


This section focuses on the transformation of Lenin’s government during the Civil War. Using a mind map (see page x), make notes on the following topics:





•  Changes to the government



•  Reasons for government changes



•  Nature of the government by 1921.
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The Russian Civil War


From the start, Lenin’s revolutionary government faced serious opposition. Lenin described the war as a battle between the Communist Reds and the reactionary Whites, but in reality the war was more complex. The Bolsheviks had opponents on all sides. Senior members of the Russian army wanted to re-establish Tsarist rule, while others wanted a military dictatorship or a democratic system like France or America. The new government had radical opponents too. The SRs and Mensheviks wanted a more democratic type of socialist government, and anarchists wanted to abolish government altogether. Britain, France, the USA and Japan also sent troops to fight the new government. Some countries feared that a successful revolution might spread, while others wanted to gain territory.


The first signs of military conflict emerged in January 1918 as General Kornilov organised an anti-Bolshevik army in the Don region. SRs and liberals set up a rival government in Omsk, Siberia, while other SRs based in the city of Ufa tried to revive the Constituent Assembly. A full-scale civil war broke out in the summer of 1918, with the enemies of the Bolsheviks gaining significant ground in the first six months of 1919. Following the failure of anti-Bolshevik forces to capture Petrograd and Moscow, Russia’s new capital city, in the summer of 1919, the Red Army began to win the war.


The Red Army extended communist power by winning victories against Nestor Makhno’s anarchist army in the Ukraine, against Alexander Kolchak’s authoritarian government in Siberia, and against Anton Denikin’s army in the Crimea (see Figure 1).


Government during the Civil War


Lenin’s primary objective during the Civil War was to ensure the survival of the new government. Lenin was willing to do whatever was necessary in order to win. As a result of the Civil War, government changed in two ways:





•  Lenin’s government became increasingly centralised.



•  The Communist Party became increasingly powerful.
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Lenin’s prime method of ensuring victory was to centralise power.





•  He centralised control of the economy with the policy of War Communism (see page 43).



•  He also relied on political centralisation, working through the loyal Party nomenklatura rather than the more democratic soviets, and using terror to suppress opposition.



•  Trotsky, leader of the Red Army, made the Red Army more authoritarian. He introduced conscription, harsh punishments and relied on former Tsarist generals to lead the army.





Centralisation ensured that the government, the economy and the army were able to win the war. However, it also took power away from the workers, peasants and soldiers who the communists claimed to represent.


The emergence of a ‘party-state’


At first, the new regime described itself as a ‘soviet-state’ (see page 6); however, during the Civil War the government increasingly became a party-state, based on the Communist Party.


Civil war meant that the new government often had to act quickly to achieve victory. Consequently, Lenin tended to rely on the Politburo. Lenin preferred working with the Politburo to Sovnarkom as it was smaller – between five and seven members – and therefore could reach decisions more quickly. Additionally, he preferred working with the Politburo because it contained his most loyal supporters, people such as Stalin, Trotsky, Zinoviev and Kamenev.


Lenin did not abolish Sovnarkom. Rather, it simply ceased to function as the main centre of government. From 1920, the Politburo effectively became the government of Russia. Sovnarkom played a much smaller role, merely approving the decisions that had already been made by the Politburo. The Politburo clearly provided clear and effective leadership during the Civil War. However, the rise of the Politburo indicated that the new government was based on the Communist Party rather than the soviets.


This pattern of Communist Party dominance also emerged at a local level. Senior Communists preferred to work through the Communist Party, which had branches all over the country. They did not trust the local soviets, as SRs and Mensheviks were still present on many of them. Therefore the soviets were often bypassed in favour of the communist nomenklatura: Party members who senior officials trusted to implement government policy without question.


By 1921, the new government was based on two parallel structures: the Communist Party and the soviet-state. As the Civil War continued and other political parties were increasingly excluded from the government, the soviet-state lost power to the Communist Party. Due to increasing Party dominance the new form of government became known as the ‘party-state’.


Red Terror


In December 1917 Lenin created the All-Russian Emergency Commission for Combating Counter-Revolution and Sabotage (Cheka), a political police force tasked with defending the revolution. During the Civil War Chekists were responsible for raiding anarchist organisations, closing down opposition newspapers and expelling Mensheviks and Socialist Revolutionaries from the soviets. The Cheka was willing to imprison, torture or kill anyone who the communists viewed as a threat. For example, in Kremenchuk in the Ukraine, Church leaders were impaled on spikes, while in the city of Oryol victims were frozen and put on display as ice statues. Women captured by the Cheka were routinely raped. Lenin argued that during a revolution, civil war and terror were necessary to protect the new government from its enemies.


Building the Red Army


In order to fight and win the Civil War, Lenin reformed the army. Following the February Revolution, the Russian army had been democratised: soldiers’ committees were empowered to elect senior officers. Lenin abolished this system and Trotsky put Tsarist generals back in charge of the army. This created outrage among idealists in the Party, who accused Lenin and Trotsky of betraying the principles of the revolution. Nonetheless, abolishing democracy and putting highly trained experts in charge of the army paid off, and the Red Army became a disciplined and successful fighting force.


The changing nature of the Communist Party


By 1921, the Communist Government was no longer a government of the workers, peasants and soldiers. While the soviets had been made up of working people, the communist nomenklatura, who administered the policies of War Communism, were largely educated members of the former middle class – economists, statisticians and engineers – who had worked for the pre-revolutionary government. The communists needed their administrative and technical expertise to help run industries and supply the army during the war.



4 1921: Crisis and reform



The communists had won the Civil War due to their ability to control the whole Russian economy and their willingness to dominate the government. However, this had made the new government extremely unpopular. The Crisis of 1921, which included rebellion among the peasants, workers’ strikes and military mutiny, showed the extent of opposition to Lenin’s government and therefore forced Lenin to reform.
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Note it down


This section focuses on the impact of the Crisis of 1921 on Lenin’s government. Using a spider diagram (see page x), make notes on the impact of the Crisis.
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Popular unrest


By early 1921, the communists had won the Civil War. However, the Civil War had ruined Russia’s economy. Droughts in 1920 and 1921 made the situation worse, threatening famine. Peasants in Tambov, led by Aleksandr Antonov, began a rebellion against communist grain requisitioning and Cheka brutality. By January 1921 Antonov had a force of 50,000 anti-communist fighters. Antonov’s revolt was not the only challenge to the Bolsheviks in the countryside. In March 1921 there were peasant attacks on government grain stores all along the Volga River.


In the major cities there were strikes against communist policies in early 1921. In Petrograd the Red Army responded by opening fire on unarmed workers. Sailors at the Kronstadt naval base, horrified by the communists’ suppression of the Petrograd strikes, rebelled. The Kronstadt sailors demanded a series of reforms, including:





•  the immediate free and fair election of new soviets



•  release of all anarchist, Menshevik and SR political prisoners



•  a restoration of freedom of speech and the press



•  the abolition of the Cheka



•  an end to War Communism (see page 43).





In essence, the Kronstadt sailors wanted a return to soviet democracy. This demand was summed up in their slogan ‘Soviets without Communists’.


Even some communists felt that Lenin had gone too far and that the time was right to revive soviet democracy. Lenin responded swiftly to these challenges. By mid-March the Red Army had crushed the Kronstadt uprising. The Red Army was equally ruthless in Tambov. In May they suppressed the rebellion by deporting 100,000 people to labour camps and attacking peasant villages with poisoned gas.


One-party state


Lenin responded to the unrest by suppressing opposition political parties. In so doing he created a one-party state. During the Civil War, opposition political parties were often persecuted by the Cheka. In spite of this they had survived the Civil War and therefore were able to play a key role in the strikes of early 1921.


From February 1921 Lenin authorised the Cheka to destroy opposition political parties. At the end of February 1921, all Mensheviks in Petrograd and Moscow, including one of the Mensheviks’ leaders, Fyodor Dan, were arrested and sent to the Butyrka Prison. Similar steps were taken against the SRs. Twenty-two leading SRs were put on trial in early 1922 and sentenced to prison or exile. Consequently, between 1921 and 1922, the communists’ dominance of Russia was consolidated by crushing opposition political parties.


The 1921 Party Congress


Lenin recognised that the unrest in Tambov, Petrograd and Kronstadt reflected the fact that Russian workers and peasants were deeply dissatisfied with the regime. As a result, Lenin pushed through a series of reforms in the 1921 Party Congress. The New Economic Policy (see page 45) liberalised the economy, while the ban on factions tightened Lenin’s political control.


Lenin faced opposition from several factions within the Bolshevik Party, including:





•  the Workers’ Opposition: a group who wanted to reintroduce workers’ control of industry



•  the Democratic Centralists: a group who wanted to make the Communist Party more democratic.





Lenin introduced a resolution, entitled ‘On Party Unity’, which banned factions inside the Party. Party members found guilty of forming factions could be expelled from the Party as punishment. The ban on factions helped strengthen Lenin’s position within the Party by making opposition to his policies more difficult to organise.
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The Soviet Union


The Soviet Union was created in 1922. In theory the Union was made up of independent republics. By 1940 there were fifteen Soviet republics including the Ukraine, Georgia, Estonia, and the Uzbek, Kazakh and Tajik Republics. Each republic had its own Soviet system, and each republic, apart from Russia, had its own Communist Party.
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5 Conclusion: Lenin’s legacy



Between 1917 and the time of Lenin’s death in 1924, Russia was transformed. Lenin succeeded in creating a Dictatorship of the Proletariat to defend the revolution. However, he destroyed soviet democracy and replaced it with a one-party state. The original institutions that had been created after the October Revolution had lost their power to Party institutions that had emerged during the Civil War. For example, Sovnarkom ceased to play an important role in government, while the Politburo made all of the important decisions that affected Russia.


During the Civil War Russia became extremely centralised. The creation of a one-party state and the ban on factions meant that political centralisation increased after the Civil War.


Lenin argued that the ban on factions, the ban on other parties and the decreased role of the soviets were temporary. However, there was no sign before Lenin’s death that the government had plans to make Russia more democratic.


Lenin also created a system in which the political police played a significant role. Again, the Cheka were introduced in 1917 as a temporary measure. But after the Civil War they still played a significant role, persecuting opposition political parties. In this sense, Lenin created a system in which individuals had no rights as the Cheka were free to persecute anyone that the government perceived as a threat. Indeed, Lenin established the principle that violence was justified in order to protect the revolution.


Finally, Lenin replaced a workers’ government with a highly bureaucratic one. Soviets full of workers, peasants and soldiers were replaced by specialists and administrators, few of whom were from the working class.
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Work together


Having made notes on this chapter, swap them with a partner. Consider the following questions:





1  Has your partner taken all of the key points down?



2  Has your partner got enough supporting detail points to support the key points?



3  Has your partner missed anything?



4  Have you missed anything that your partner has noted down?



5  Could you revise from your partner’s notes?



6  How could you both improve your note-making style?





Use these questions to feed back to each other and improve your note making.
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Chapter summary





•  Lenin seized power in Russia in the October Revolution of 1917, proclaiming ‘All power to the Soviets’.



•  Initially, Lenin’s government was based on the soviets.



•  Bolshevik popularity declined between October 1917 and April 1918.



•  Lenin refused to recognise the results of new elections to the soviets in mid-1918.



•  During the Russian Civil War, 1918–21, the Russian Government became increasingly centralised and dominated by the communists.



•  During the Civil War the Politburo replaced Sovnarkom as the effective government of Russia.



•  The communists won the Civil War using a combination of political and economic centralisation, military discipline and terror.



•  Following the Civil War Lenin banned opposition political parties and created a one-party state.



•  Following the Civil War Lenin banned factions within the Communist Party, further centralising the Party.



•  The Communist Government continued to use political centralisation and terror to govern Russia after the Civil War.
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Recommended reading




G.L. Freeze (ed.), Russia: A History (Oxford University Press, 2002), especially pages 253–262 on the political consequences of the Russian Civil War.


R. Service, Lenin: A Biography (Pan Macmillan, 2010), especially the Introduction which provides an overview of Lenin’s life, ideas and legacy.


R. Service, The Penguin History of Modern Russia: From Tsarism to the Twenty-first Century (Penguin, 2009), especially Chapter 1 which deals with Russia prior to the First World War.


R.G. Suny (ed.), The Cambridge History of Russia, Volume III (Cambridge University Press, 2006), especially Chapter 4 which deals with the revolutionary period of 1917–18.
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Essay technique: Understanding the question


Section A and B questions require you to deploy a variety of skills. The most important are focus on the question, selection and deployment of relevant detail, analysis and, at the highest level, prioritisation. The introduction to this book gives more detail about Section A and B questions (see pages vi-vii). Section A and B questions for AS level are different from those for A level, and some guidance about this is given on pages vii–viii. However, you will need to develop very similar skills for the AS exam, therefore the activities will help with the AS exams as well. There are also some AS-style questions to practise at the end of chapters.


In order to answer the question successfully you must understand how the question works. The question below is written precisely in order to make sure that you understand the task. Each part of the question has a specific meaning.
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Overall, all Section A and B questions ask you to make a judgement about the extent of something, in a specific period. In order to focus on the question you must address all three elements. The most common mistakes come from misunderstanding or ignoring one of these three elements.
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Activity: What should a good answer look like?


Having read the advice on essay questions on this page and in the introduction (page v), complete the following activity:





1  Make a bullet-point list of the skills that you need to do well in this type of essay.



2  Number the skills in order of their difficulty, so the easiest skill to demonstrate is 1, and the hardest 4.



3  Try to work out what a good essay would look like. Specifically, note down your thoughts about:







    – roughly how many paragraphs the essay should have


    – which skills you should deploy in which sections of the essay


    – how you should structure the different types of paragraph.





TIP: Don’t just guess; use the advice in this section and in the introduction to try to figure out what a good essay should look like.
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Work together


Having completed these activities, swap them with a partner. Consider the following questions:





1  Did you agree on which skills were easiest to demonstrate and which skills were hardest? How did each of you make this judgement?



2  Did you agree on the number of paragraphs in the essay?



3  How did you and your partner make the judgement about the number of paragraphs you should write?



4  If you had different reasons for the judgement, whose reasons were better and why?



5  Did you agree on where the different skills should be used?



6  Were your reasons for locating skills in different parts or throughout the essay as good as your partner’s reasons?



7  Did you agree on how to structure each paragraph?



8  Can your partner justify their thoughts on how to structure a paragraph?





Use this discussion as a basis for further notes on how to approach the question. For advice on the structure of the essay see page 26.
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1b: Stalin in power, 1928–53
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Overview


Between 1928 and 1953 the Soviet Union was transformed from a Party dictatorship to a personal dictatorship. This process went through a series of stages. By 1928, Stalin had changed the nature of the Party in a way that allowed him to emerge as the Soviet Union’s undisputed leader. This process went further in the 1930s. Through a series of violent purges, known as the Great Terror, Stalin destroyed the generation of Communist leaders who had known Lenin, fought in the revolution and therefore had authority that was independent of Stalin. In this sense, during the 1930s Stalin reduced the power of the Party and made himself supreme. By 1938, the essential features of Stalin’s Communist Government were in place. In his final years he made small changes to the Party and the state in order to safeguard his power. His efforts were successful. He died in 1953 the master of a totalitarian superpower.


This chapter considers:





1  The elimination of Stalin’s opponents



2  The purges of the 1930s



3  Stalin’s power over party and state.
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1 The elimination of Stalin’s opponents


Between 1923 and 1928 the leadership struggle transformed the nature of the Communist Party. Between 1917 and 1922 Lenin’s government had been quite pluralistic. There were a number of powerful people in the government and various different views about the future of communist society. The 1921 Ban on Factions (see page 11) had reduced the scope of party pluralism, but it had not destroyed it. However, by 1928 Stalin had transformed the Party in four ways:





•  He had established an ideological orthodoxy.



•  He had destroyed the authority of the other main contenders.



•  He changed the nature of Party membership.



•  He had created the patronage system.





In so doing he ensured his victory and destroyed the political authority of his key rivals.
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Note it down


Make an index card (see page xi) for each of the main contenders for power. On each, note:





•  their relationship with Lenin



•  Lenin’s comments on them in his Testament



•  their key strengths



•  their key weaknesses.








[image: ]


Leadership in the Soviet Union


Lenin’s leadership was based on his personality and his authority. He was able to lead because he had the respect of all his senior colleagues. They knew that he had masterminded the revolution, and that the government that emerged reflected his vision. In that sense, he was leader of the Soviet Union because he was Lenin, not because he held official positions.


This created problems on Lenin’s death. Specifically, replacing Lenin was not a matter of winning a post in the government. Rather, each of the contenders had to persuade the Communist Party that they were a true Leninist.


Nonetheless, the Politburo had emerged as the most powerful part of the government. Therefore gaining a majority in the Politburo was the key to power in the Soviet Union. Winning a majority in the Politburo meant winning votes at the Party Congress as the Party Congress elected the Central Committee, which in turn elected the Politburo. The battle for leadership was a battle for support within the Party, not a battle for support within the Soviet Union, which was not a democracy.


Stalin’s rivals for power in 1923


The leadership struggle was prompted by Lenin’s declining health. Lenin had become unwell towards the end of 1921, and in May 1922 he had the first of a series of strokes that left him unable to work. By mid-1923 it was obvious that Lenin would never return to government. Therefore a struggle began at the top of the Party which had a profound impact on the government of the Soviet Union. From 1923 there were four key contenders who had a realistic chance of emerging as leader of Russia: Zinoviev, Bukharin, Trotsky and Stalin. None of them rivalled Lenin, but all of them had a significant degree of authority in the Party.


Gregory Zinoviev


Zinoviev emerged as the front-runner to lead the Soviet Union in 1923. Zinoviev could claim to be a true Leninist as he was Lenin’s closest friend. The two spent so much time together that Zinoviev’s handwriting became like that of Lenin. Additionally, Zinoviev had supported Lenin since the beginning of the Bolshevik movement in 1903. Between 1903 and 1917 Zinoviev had been Lenin’s right-hand man.


Between 1923 and 1925 Zinoviev led the Triumvirate, an alliance of himself, his friend Lev Kamenev and Stalin, which formed a majority in the Politburo. The alliance kept Trotsky out of power and laid the foundation for Stalin’s emergence as leader. Specifically, Zinoviev and Kamenev persuaded the Central Committee to ignore Lenin’s Testament, which contained an instruction to sack Stalin. Consequently, Stalin retained his position at the top of government.


Zinoviev also created an extremely effective political strategy which denied Trotsky power. He made a series of speeches about the differences between Leninism and Trotskyism. The purpose of these speeches and these two new categories was to demonstrate that Trotsky was not a Leninist and therefore should not lead the government.


Nikolai Bukharin


From 1925 to early 1928 Bukharin was the most prominent figure in the Soviet Government. In 1925 he formed an alliance with Stalin, known as the Duumvirate. The alliance gave Bukharin and Stalin a majority in the Politburo due to the support of more junior members who were allies of Bukharin.


Bukharin could claim to be a true Leninist for a number of reasons:





•  He joined the Bolshevik faction in 1906 and supported Lenin consistently until Lenin’s death in 1924.



•  Lenin and Bukharin were close and had a father-and-son relationship.



•  Lenin entrusted Bukharin with a series of important jobs, including the editorship of the Soviet newspaper Pravda.





However, it was widely known that Bukharin and Lenin had disagreed over a series of issues. For example, in 1918 they disagreed over ending the First World War, and in 1921 over the introduction of the NEP. Moreover, as he was the youngest of the contenders for power, some in the Party thought he was too young and inexperienced to be the new leader.


Trotsky


Trotsky was the most famous member of the government other than Lenin. He was well known as a revolutionary hero due to the role he played in the October Revolution and the Civil War. Moreover, from 1917 he had been Lenin’s right-hand man and closest political collaborator. However, he was not popular within the Communist Party. Many communists remembered that between 1903 and 1917 he had opposed Lenin. Trotsky had joined the Bolsheviks in mid-1917, and therefore many Bolsheviks believed that he joined the Party to gain power rather than because he was a true Leninist. Moreover, Trotsky had disagreements with Lenin in 1917 over the timing of the October Revolution and in 1922 over the NEP (see page 45). There was a great deal of evidence that Zinoviev was right and Trotsky was not a true Leninist and therefore did not deserve to lead the Party.


Trotsky retained his position in the Politburo until 1927, but he was unable to influence the direction of policy. He was continually in opposition to the ruling alliances.


Stalin


Stalin was continually part of the Politburo majority between 1923 and 1928. However, he played a supporting role, letting Zinoviev and then Bukharin play the leading roles in the Triumvirate and then the Duumvirate.
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Lenin’s Testament


In late 1922 and early 1923 Lenin was too ill to play an active part in government. Nonetheless, he was able to dictate essays and notes which set out his ideas for the future of the Soviet Union.


Lenin’s Testament refers to a series of notes that he dictated about leading members of the Party. The notes were addressed to the Central Committee and were highly critical of the main contenders for power. The Testament:





•  accused Trotsky of arrogance and in coded language of being too willing to use violence



•  accused Stalin of impatience and rudeness



•  reminded the Central Committee that Zinoviev and Kamenev had been disloyal to the Party immediately before the October Revolution



•  argued that Bukharin did not fully understand Lenin’s ideology.





The first part of the Testament advocated a collective leadership based on an alliance between Trotsky and Stalin. However, following an angry phone call between Stalin and Lenin’s wife, the second part of the note instructed the Central Committee to sack Stalin.


All of the five contenders voted to keep the Testament secret at a 1923 meeting of the Central Committee, as it was damaging to all of them.
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Stalin could claim to be a true Leninist for a variety of reasons. He had joined the Bolsheviks at the very beginning in 1903 and had been loyal to Lenin throughout the whole period from 1903 to 1921. Stalin began being disloyal to Lenin in 1922 when Lenin was too ill to fight back. Moreover, this disloyalty was kept secret from the majority of the Party.


Lenin held Stalin in high regard, referring to him as ‘that wonderful Georgian’. Lenin trusted Stalin with important administrative tasks and supported his promotion to the position of General Secretary in 1921.


The Communist Party in 1928


The leadership struggle led to a series of important changes in the Communist Party. In general terms the Party became more centralised and disciplined as a result of the leadership struggle as the contenders tried to gain greater control of the Party.


Ideological orthodoxy


First, in order to win the leadership struggle, Stalin had to establish that he, rather than the other contenders, was a true Leninist. This changed the nature of the Party by establishing a new ideological orthodoxy.


Between 1917 and 1928 the Communist Party included members who believed a variety of different things. During the leadership struggle Stalin and his allies discredited a number of ideas, which became known as Trotskyite.


By 1928 the Communist Party was committed to two ideas which Stalin advocated:





•  Socialism in one country: From 1924 Stalin and Bukharin had advocated the idea that the Soviet Union could construct socialism. Traditionally, Marxists had assumed that socialism could only be achieved following a global revolution. In that sense, constructing socialism was believed to be a global project, not something that could be done in one country. However, from 1924 Bukharin and Stalin argued that the Soviet Union could build socialism without waiting for a global revolution. They argued that socialism in one country was the correct Leninist idea, and that Trotsky, Zinoviev and Kamenev were Trotskyites, rather than Leninists, because they wanted to wait for a global revolution before constructing socialism.



•  Collectivisation and industrialisation: In 1928, Stalin argued that the time was right to abandon the NEP and transform the Soviet economy. Lenin had argued that the NEP would ‘last a long time but not forever’. While this statement was vague, Stalin argued that Lenin’s commitment to the NEP was pragmatic. When the economy under the NEP stopped growing in the late 1920s, Stalin argued that the correct Leninist policy was to abandon the NEP and introduce a more radical policy. From 1928 Stalin argued that peasants should be forced to work on state-owned farms, and that the profit they produced should be used to industrialise the Soviet Union at a rapid pace. He argued that Bukharin’s desire to continue the NEP indicated that Bukharin was no longer a true Leninist.





This new ideological orthodoxy was a significant change in the nature of the Party. Lenin had tolerated differences of view at the top of the government and was prepared to work with people he disagreed with. Stalin, by contrast, argued that Trotskyites and Bukharin’s followers posed a real threat to the Party. Therefore he had Zinoviev, Kamenev and Trotsky arrested and Trotsky expelled from the Party and the Soviet Union.


Authority at the top of the Party


Under Lenin there were many people who had authority within the Party. Stalin, Trotsky, Bukharin, Zinoviev and Kamenev all enjoyed the respect of significant parts of the Party, and therefore all had power bases within the Party. Stalin’s strategy for emerging as undisputed leader was to destroy the authority of his opponents. He undermined the authority of his opponents by:





•  establishing a new ideological orthodoxy and branding his opponents enemies of Leninism



•  demanding that Trotsky, Zinoviev and Kamenev apologise to the Party for the errors when they lost votes at the Party Congress



•  accusing Bukharin, Zinoviev and Kamenev of plotting against the Party and forming a faction; these were serious crimes, as Lenin had banned factions in 1921.





By 1928, the Party had been transformed from an organisation in which there were a large number of people who had a degree of authority to an organisation in which Stalin had a near monopoly of authority. Significantly, Stalin did not succeed in completely destroying Bukharin’s authority by 1928. Bukharin was still highly regarded by most of the Party, even though his policies were rejected.


Party membership


Another change in the Party introduced by Stalin to help win the leadership struggle was an increase in Party membership. In 1924, Stalin initiated the Lenin Enrolment. From May 1924, the Lenin Enrolment allowed 128,000 people to join the Communist Party. Stalin justified this by arguing that the Party needed new working-class members.


However, in practice the new members were poorly educated people who wanted well-paid jobs within the Party. Due to their lack of education, the new members were suspicious of Trotsky and Bukharin, the Party’s leading intellectuals. Moreover, because they were interested in getting well-paid Party jobs they tended to support Stalin, who was able to promote them within the Party.


Therefore by 1928 the Party was quite different to the Party of 1921. The new recruits were less interested in ideas or the goals of the revolution and more interested in their careers.


Stalin’s patronage system


Party democracy also weakened between 1921 and 1928. In 1921, the Party was based on Democratic Centralism. All Party members voted for delegates who attended the Party Congress, which elected the Central Committee. However, from 1923 Stalin began to issue an ‘approved list’. Rather than having a free choice, local parties were encouraged to send delegates to the Party Congress from the approved list. In 1923 approximately one-third of the delegates at the Party Congress were selected from Stalin’s list. As the 1920s went on this figure grew, giving Stalin a greater degree of control over the Congress.


Additionally, Stalin had a number of positions in the Party which allowed him to win support by acting as patron. As General Secretary, he could give well-paid and powerful jobs to lower-ranking Party members. Equally as head of the Central Control Commission and the Rabkrin he had the power to investigate and, if necessary, sack Party members and government officials. Stalin’s power to promote and sack Party members meant that he could count on the loyalty of Party members who wanted to retain their positions or get a promotion.


Changes in the Party increased Stalin’s power. They also led to a change in the nature of the Party. First, from the mid-1920s the Party increasingly had the role of administering and implementing the decisions of the Politburo and the leader. Party members became known as ‘apparatchiks’, people who worked in the Party ‘apparatus’, implementing orders rather than thinking creatively about politics. Secondly, the Party became increasingly privileged. People with full-time positions in the Party were known as the ‘nomenklatura’, people who enjoyed power and status due to their Party position, and ultimately to patronage. In this sense, under Stalin the Party ceased to be full of dedicated revolutionary radicals and became full of professional administrators dedicated to their own careers.


Conclusion


The struggle for leadership in the 1920s transformed the Party by 1928. Stalin emerged as leader of the Party by creating an ideological orthodoxy, by destroying the authority of his opponents, by transforming the Communist Party and by the extensive use of patronage. In so doing, he changed the Communist Party from a relatively pluralistic organisation to a party in which Stalin alone was dominant.
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2 The purges of the 1930s


By 1928, Stalin was undisputed leader of the Communist Party and the Soviet Union. However, in some ways his power was insecure. In essence, Stalin feared that he would lose power, just as Trotsky, Zinoviev and Bukharin had in the 1920s. He was concerned that:





•  his own supporters were prepared to challenge his authority



•  his old rivals could conspire against him and overthrow him.





Stalin responded to these perceived threats by launching the Great Terror, or Great Purge, a campaign of arrests, torture, mass imprisonments and executions that finally removed his opponents. The Great Terror was at its height from 1935 to 1938. It was responsible for the deaths of around 10 million Soviet citizens, approximately ten per cent of the population.
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Note it down


Using a spider diagram (see page x), make notes on the causes of the Great Terror. Use the sub-headings as your main topics and make sure you get down the key details, including dates and names. Under every heading, highlight the reason why each of these factors led Stalin to launch the Great Terror. Finally, make a judgement about whether the factors were long- or short-term causes – and note these judgements down on the diagram.
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Causes of the purges


The Great Terror had several causes. However, they were all related to Stalin’s desire to safeguard his own position.


Opposition


Opposition from the Politburo was one of the causes of the Great Terror. By 1932 there was a group of moderates in the Politburo associated with Sergei Kirov, head of the Communist Party in Leningrad. Kirov and the moderates were able to force some changes in policy in the early 1930s:





•  In 1932, Kirov defended Martemyan Ryutin. Ryutin had circulated a document that was highly critical of Stalin’s policies. He also formed the Union of Marxist Leninists, an opposition group, which included supporters of Bukharin, Zinoviev and Trotsky. Stalin demanded his execution. However, Kirov, with the support of Politburo moderates, argued successfully that he should be sent to prison.



•  In 1933 Kirov and the moderates argued for more realistic targets in the Second Five-Year Plan and for a greater emphasis on the production of consumer goods (see page 53).
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Sergei Kirov, 1886–1934


Born in 1886 into a poor family, Kirov became a leading member of the Communist Party in the 1920s. In 1925 he was appointed leader of the Communist Party in Leningrad. He was a Stalinist, who supported collectivisation, the Five-Year Plans and the use of political terror. Although he was a Stalinist, he had a reputation for being more pragmatic than Stalin. Indeed, he used his influence to ensure that the Second Five-Year Plan was more realistic and more focused on consumer goods than the First. Additionally, he was a good orator, he was considered handsome and he was a Russian – whereas Stalin was a Georgian – and therefore popular within the Party. In 1933 he was nominated Stalin’s deputy, and therefore Stalin saw him as a potential rival. There is considerable debate surrounding the extent of Stalin’s involvement in his murder.
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Kirov’s growing authority within the Party was clearly a challenge to Stalin.


Economic problems


Economic problems were also a cause of the Great Terror. First, senior figures within government were aware of the problems with Stalin’s industrial and agricultural policies, which undermined Stalin’s authority in government 53–54. Secondly, by accusing workers and managers of being ‘wreckers’ and ‘saboteurs’ Stalin could blame them for the problems, rather than accepting responsibility for the failure of his policies. Finally, Stalin sent ‘wreckers’ and ‘saboteurs’ to Gulags, huge labour camps. In this sense, the terror created an army of slave labour, which he could use to build factories or mine resources.


The Congress of Victors


Events during the Congress of Victors, held in February 1934, also indicated that Stalin’s position was under threat. Stalin came second to Kirov in the vote at the end of the Congress which elected the new Central Committee; Kirov received 1225 votes compared to Stalin’s 927. Senior members of the Party approached Kirov, urging him to stand against Stalin as General Secretary. Kirov refused, and the vote was kept secret. Nonetheless, the Congress demonstrated that Stalin had a rival in the Communist Party.


Kirov’s murder


Finally, Kirov’s murder was a useful pretext for launching the terror. Kirov was murdered in December 1934. Some historians have speculated that Stalin ordered the attack, but conclusive proof has never been found. Certainly, the murder removed Stalin’s main rival. Additionally, the murder allowed Stalin to claim that there was a dangerous conspiracy that aimed to overthrow the Communist Government. In that sense, it gave Stalin a reason to arrest his rivals and launch a mass campaign to hunt down his enemies.


The Great Terror, 1934–38


The Great Terror started in Leningrad in December 1934. Immediately after Kirov’s murder, Stalin arrested Zinoviev and Kamenev and organised an investigation into the Communist Party in Leningrad. The Great Terror spread throughout the Soviet Union in 1936 and reached its height in 1937.


Show trials


The most public aspect of the terror were three show trials that took place in 1936, 1937 and 1938. These finally removed Stalin’s rivals from the 1920s:





•  The Trial of the 16, 1936, led to the execution of Zinoviev, Kamenev and 14 of their supporters.



•  The Trial of the 17, 1937, led to the execution and imprisonment of 17 of Trotsky’s former supporters.



•  The Trial of the 21, 1938, led to the execution of Bukharin and many of his closest supporters.





Not only did the trials lead to the deaths of Stalin’s former rivals, they also destroyed the reputations of the key defendants. All of the defendants confessed to plotting to murder Kirov and working with capitalist nations to overthrow the Soviet Union.


The show trials were only a tiny fraction of the Great Terror. The terror affected all aspects of the Party and the government. Indeed, 95 per cent of those affected by the terror were men between the ages of 30 and 45 who held senior positions in the Party or played an important role in the economy.


Secret trials


In addition to the public trials, Stalin organised a trial of the Red Army’s leaders. In 1937 eight senior generals were tried for plotting to overthrow the government. The eight leaders had worked with Trotsky when he was head of the Red Army, and therefore Stalin did not trust them. All were executed.
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Following the trial more than 37,000 officers were purged from the army (see Table 2).


Consequences of the Great Terror


The Great Terror led to significant change in government:





•  It finally eliminated Stalin’s rivals from the 1920s.



•  It also led to the death or imprisonment of a whole generation of communists who had known and worked with Lenin. In this sense, it removed all Party members who could claim authority that was independent from Stalin.



•  It led to the emergence of a new generation of Communist Party leaders who owed their positions to Stalin, and who were therefore loyal.



•  It established the principle that Stalin had the right to use terror against anyone who was disloyal.



•  Stalin’s political police, the NKVD, became a powerful organisation within the regime. Consequently, Lavrentiy Beria, Stalin’s NKVD chief from 1938, also became a powerful figure within the government.





In sum, the Great Terror established that Stalin was the only source of authority in the Soviet Union. Other politicians and the Party itself could not be trusted. Only Stalin could be trusted to defend the Soviet Union.
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Totalitarianism


Stalin’s form of government has often been described as totalitarian. In essence, many historians and political scientists argue that Stalin constructed a new kind of dictatorship. Unlike previous dictators, Stalin:





•  had complete control of the economy (see pages 50–51)



•  used widespread political terror to eliminate his opponents



•  had complete control of the media



•  used extensive propaganda to win the hearts and minds of his people (see page 75–76).





Stalin’s dictatorship also had different aims from previous dictatorships. Whereas dictators such as the Tsar had been content with the absence of opposition, Stalin demanded heartfelt enthusiasm from his people. In that sense, Stalin did not simply want obedience; he wanted the full commitment of his people.
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3 Stalin’s power over party and state



Stalin dominated both party and state. The relationship between the Party and the state in the Soviet Union was complicated and changed over time. Crucially, Stalin used the changing relationship between the two organisations to his advantage.
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Note it down


Between 1928 and 1953 Stalin established his dominance of the Party and the Soviet state. Using a large piece of paper draw a timeline beginning in January 1928 and ending in March 1953. Add the different strategies that Stalin used during these years to the timeline. In each case, make a note of the methods that Stalin used and his goals. Also, make sure you add events to the timeline, such as the Great Terror and the Second World War.
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The party and state’s relationship


Stalin inherited the Communist Party and the Soviet state from Lenin. Lenin had created both, but had failed to define the relationship between the two organisations. In 1917, Lenin established a state based on the soviets. However, as non-Communist political parties were outlawed, the Communist Party, rather than the state, became the most powerful organisation in the Soviet Union.


However, the exact relationship between the Party and the state was never defined. Moreover, the relationship changed in the period 1928 to 1953. Stalin used the vagueness of the relationship between the Party and the state to his advantage throughout the 1940s and the early 1950s.


The Second World War


The Second World War began in western Europe in 1939 between nations including Germany, Britain and France. Initially, the Soviet Union was neutral, but supplied materials to the Nazis. However, Hitler invaded the Soviet Union in 1941. Subsequently, the Soviet Union allied with Britain and the USA forming the Grand Alliance against Nazi Germany and Fascist Italy. The war in Europe ended with an Allied victory in May 1945.


The Second World War led to a change in the relationship between party and state, a change that emphasised Stalin’s power. From 1928, Stalin had been the most powerful man in the Communist Party. However, it was only in 1941 that Stalin became Chair of Sovnarkom – the most senior committee in the state.


This change reflected the need for an efficient government during wartime. Stalin’s government in the 1930s had been grossly inefficient. Indeed, by purging the senior levels of the state, the Party and the military he had sabotaged the effectiveness of all aspects of the government. Nonetheless, the government needed to run effectively in order to win the war. Therefore from 1941 Stalin took the leading position in the state, as well as the Party, in order to ensure better co-ordination of government. In addition to becoming Chair of the Council of Ministers, Stalin promoted effective government during the war in the following ways:





•  He ended mass terror. During the Great Terror thousands of effective administrators had been purged. During the war, Stalin allowed state and Party officials to continue working in order to ensure that government could run more smoothly. Stalin believed that administrators should be allowed to work without the threat of violence during the war, as they could always be shot once the war was won.



•  He allowed state power to grow. During the war there was a shift in power within the government from the Party to the state. State Ministers, rather than Party bosses, made important decisions.



•  He changed the composition of the Politburo. As the power of the state grew, Ministers joined the Politburo, and members of the Politburo were given important ministerial jobs. This meant that the Politburo increasingly co-ordinated state activity as well as Party activity.



•  He created the State Defence Committee (GKO). The GKO was responsible for economic co-ordination and military production and defence during the war.
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Titles in the Soviet Union


Between 1928 and 1966 there were regular changes in the titles of senior posts in government. Under Lenin senior government officials were known as Commissars. However, Stalin changed this to Ministers. Similarly, under Lenin the most senior committee in government was called Sovnarkom (the Council of People’s Commissars). Under Stalin this became the Council of Ministers and later the Presidium. Brezhnev, Soviet leader from around 1964 to 1982, reverted to the names used in the 1920s.
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The Soviet Constitution of 1936


The Soviet Constitution of 1936, sometimes called the ‘Stalin Constitution’, set out the structure of the Soviet Government and the rights of citizens (see Figure 2). Western socialists who studied the constitution described it as the most democratic in the world. Indeed, the government was based on the election of local soviets, which elected higher bodies such as the Supreme Soviets, which, in turn, elected the Council of Ministers. In addition, the constitution guaranteed rights to freedom of speech, freedom of movement and freedom of religion.


In reality, the constitution had little to do with the government of the Soviet Union. The soviets, the Supreme Soviet and the Council of Ministers were dominated by the Communist Party. The Party held power, rather than the constitutional bodies. Additionally, there was no rule of law in the Soviet Union. Therefore legal rights were meaningless, as the government did not have to obey the law.


In the 1980s, Gorbachev, the last leader of the Soviet Union, tried to revive the power of the soviets and other aspects of the constitution (see pages 157–164). However, between 1936 and 1988 they were largely irrelevant.
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Competition between party and state


Following the war Stalin used the party–state relationship to his advantage by encouraging competition between the two organisations. First, he did this by appointing rival personnel to key positions in the Party and state. For example, he placed Andrei Zhdanov, Beria’s key rival, in charge of Party supervision of Beria’s political police. Encouraging competition between Party and state officials meant that senior officials in the Soviet Government competed with each other and not with Stalin.


Secondly, Stalin shifted power from the Party to the state and back again. In 1938 the Politburo was the most senior committee in government. By 1942, the GKO was the most powerful committee, and after the war the Council of Ministers became more powerful. By shifting the centre of power within the government, Stalin was able to ensure that none of these senior committees grew to rival him.


Post-war terror


A final way in which Stalin held on to power was the continued use of terror. Stalin did not use terror to the same extent after the war as he had in the 1930s. Nonetheless, by purging hundreds of Party and state officials in his last years he inspired fear in thousands more.



The Leningrad Affair, 1949



During 1949 Stalin launched a purge against the Leningrad Party. Stalin was concerned that Leningrad, Russia’s second city, was developing a degree of independence from his powerbase in Moscow. Around 100 officials were shot and around 2000 arrested and dismissed.


Significantly, the Leningrad Affair may also have been part of the struggle to replace Stalin that emerged in the late 1940s. In 1948, Stalin celebrated his 70th birthday. Clearly, his life was coming to an end. Two of the main rivals for his position were Beria and Zhdanov. Beria’s powerbase was in the MVD (the Soviet political police – see page 30), whereas Zhdanov was the chief of the Leningrad Party. The Leningrad Affair followed Zhdanov’s death in 1949, and one explanation was that Beria encouraged Stalin to purge Leningrad because it contained a group of senior officials who had been his rivals.


Testing loyalty


A final technique that Stalin used was to test the loyalty of his closest allies. One way in which he did this was to imprison or sack the wives and daughters of senior figures in government. One example concerns Vyacheslav Molotov, one of Stalin’s closest allies. Molotov had been a member of the Politburo since 1926 and Minister of Foreign Affairs since 1939. In 1948 Stalin demanded that the Politburo vote to expel Molotov’s wife from the Party. Molotov abstained from the vote and later apologised to Stalin for this disloyalty. In 1949, Stalin had Molotov’s wife arrested and imprisoned. Having learned from his previous mistake, Molotov made no effort to stop the arrest or end the imprisonment.
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Vyacheslav Molotov, 1890–1986
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Molotov was born into a relatively poor family in 1890. He was a committed Bolshevik, dedicated to overthrowing the Tsar and liberating the working class. In the 1920s he became close to Stalin. He supported Stalin’s key policies in the late 1920s and early 1930s. He was incredibly hard working. Winston Churchill, who met Molotov during the Second World War, claimed he had ‘never seen a human being who more perfectly represented the modern conception of a robot’.
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Conclusion


The struggle for power and the Great Terror transformed the Soviet Government. Under Lenin various politicians, and the Communist Party itself, had an authority that was independent of Lenin. Moreover, Lenin established the convention that political terror should never be used against Communist Party members. Therefore under Lenin and for much of the 1920s there was room for debate and discussion within the Communist Party.


By 1938 this had changed. During the 1920s Stalin established a single ideological orthodoxy and a party which rewarded loyalty rather than free discussion. The 1920s also saw the authority of Lenin’s closest allies destroyed. By 1928 Stalin and his allies were in control of the Party. The Great Terror took this process further. Many of Stalin’s allies were purged; he believed that people were more likely to obey him out of fear than loyalty and therefore he even attacked his supporters. Moreover, Stalin was prepared to rule through terror, and therefore organised opposition and widespread public debate in the Party disappeared.


As a result, Stalin, rather than the Communist Party, ruled. The Communist Party and the state had very limited authority. Certainly, they could not oppose Stalin. In Stalin’s last years, he fostered competition in government and used limited political terror to ensure that his dominance of party and state continued. Therefore on Stalin’s death in 1953, the Soviet Union faced a new problem. Stalin’s heirs would have to revive the Party and state in order to create an effective Soviet government.
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Work together


Having read this chapter, write a list of the ways in which Stalin transformed Soviet politics. Make sure the list has at least four statements. Each statement should include:





•  a specific aspect of government that changed



•  the reason it changed



•  the impact of the change.





For example, you could write: ‘Stalin centralised the Party to ensure his dominance and this increased his control of the Party.’


Having completed the list swap lists with a partner. Compare the lists and ensure that you note down any statements that you missed.


Discuss which of the changes was the most significant, and then write a sentence together explaining which change was most significant and why.
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Chapter summary


Between 1928 and 1953 Stalin’s control of the government went through a series of phases:





•  Phase 1: 1928–34: Stalin dominated the government, but key rivals remained in the Party.



•  Phase 2: 1934–38: Stalin’s Great Terror removed his rivals, consolidating his dominance of party and state.



•  Phase 3: 1938–53: Stalin used the relationship between the Party and the state to his advantage, in order to stop new rivals emerging.
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Recommended reading




A. Brown, The Rise and Fall of Communism (Random House, 2010), pages 71–72. Brown considers the extent to which Stalin established a personal dictatorship.


P. Kenez, A History of the Soviet Union from the Beginning to the End (Cambridge, 2006), pages 75–79. Kenez discusses the events of the power struggle.


R. Sakwa, Soviet Politics in Perspective (Routledge, 1998), pages 45–48. Sakwa provides an overview of the key features and important dynamics of the Stalin era.
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Essay technique: Focus and structure


All of your examined essays will be judged on how far they focus on the question and on the quality of their structure; the better your focus and the clearer your structure, the better your chance of exam success.


Focus of the question


First, you must identify the focus of the question. Imagine you are answering the following question:
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How far do the policy changes of 1921 explain Stalin’s increasing domination of the Communist Party in the period 1928–53?
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The question has two parts:





•  the policy changes of 1921



•  Stalin’s increasing domination of the Communist Party in the period 1928–53.





Essentially, the question asks you to explain Stalin’s increasing domination of the Communist Party; therefore that is the primary focus of the question. However, you must evaluate the role played by the policy changes of 1921; this is the secondary focus of your essay.


Structuring your essay


Your essay should be made up of three or four paragraphs, each addressing a different factor which helps to explain Stalin’s increasing domination of the Communist Party. One of these paragraphs has to explain the factor stated in the question: the policy changes of 1921. Therefore your essay plan should look something like this:




•  Paragraph 1: (Stated factor) The policy changes of 1921


•  Paragraph 2: Stalin’s personality


•  Paragraph 3: Communist ideology


•  Paragraph 4: Stalin’s successes





It is a good idea to deal with the stated factor first, otherwise you may run out of time and then miss the opportunity to deal with this important part of the question. Once you have dealt with the stated factor, deal with the other factors in order of their importance. Write about the most important factor first.


In addition to your three or four main points, you should begin your essay with a clear introduction and end with a conclusion (see page 68–69) that contains a focused summary of your essay.


The example above is a causation question, which asks you to consider how far a stated factor caused a specific process. Significantly, not all questions deal with cause, and not all questions have an obvious stated factor. Nonetheless, you will need to consider a range of themes in any essay you write. Therefore you should always begin by thinking of the three or four main topics you want to discuss, and these should be the basis of your essay.



Writing a focused introduction



Having made your plan, it is important you write a focused essay. One way of doing this is to use the wording of the question to help write your answer. For example, the first sentence of your essay could look like this


This sentence begins with a clear focus on the question by addressing ‘how far’ the policy changes of 1921 explain Stalin’s increasing domination of the Communist Party. In this sense, the first sentence provides a focused answer to the whole question.
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Focus throughout the essay


A second way of maintaining focus is to begin each paragraph with a clear point, which both refers to the primary focus of the question and links it to a factor.


For example, you could begin your third paragraph with the following point:
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This sentence clearly introduces a new factor: communist ideology, while maintaining focus on the question.


Summary




•  Work out the primary and secondary focus of the question.


•  Plan your essay with a series of factors that focus on the question.


•  Use the words in the question to formulate your answer.


•  Return to the primary focus of the question at the beginning of every paragraph.
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Activity: Question practice


Having read the advice on how to write a structured and focused essay, using your notes, plan and write the first sentence of the following questions:





1  How far was Stalinism a continuation of Leninism? [AS]




2  Were Stalin’s purges of the 1930s the main reason for his power in the USSR in the years 1928–53? Explain your answer.
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1c: Reform, stability and stagnation, 1953–85
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Overview


From 1953 to 1985 Khrushchev, and then Brezhnev attempted to deal with the legacy of Lenin and Stalin. Lenin had created a revolutionary government dedicated to transforming Russia. Stalin had turned the Soviet Union into a superpower.


Both of these legacies posed problems. Russia’s new leaders struggled to keep Lenin’s revolution alive, while also attempting to create a stable and successful government. Equally, Stalin’s superpower was in fact a weak state. Stalin’s dominance meant that the government itself had little power independent of Stalin.


Khrushchev attempted to reform the system. He wanted to build on what he viewed as the positive aspects of Lenin and Stalin’s system, while ending the use of terror and improving the lives of Soviet citizens. Moreover, he wanted to keep the revolutionary vision alive. However, reform destabilised communist rule – threatening to end the Party’s hold on power. Khrushchev was continually caught between the desire to reform and the need to ensure the Party’s power. Khrushchev’s personality was also problematic. He was often overconfident, he was prepared to take big risks, and his impulsive leadership style caused a series of crises during his time in power. Khrushchev’s attempts to reform and his rashness led to his fall from power in 1964. Senior Communists replaced Khrushchev with new leaders who were more cautious and wanted stability rather than reform.


Brezhnev’s great success was the establishment of a stable government. However, Brezhnev’s government abandoned Lenin’s goal of revolutionary transformation in favour of maintaining the status quo. This created problems of its own as an increasingly old, ill and corrupt government attempted to run a struggling superpower. His immediate successors Yuri Andropov and Konstantin Chernenko were unwilling and unable to deal with the problems that Brezhnev left behind.


This chapter considers:





1  Khrushchev’s reforms and de-Stalinisation



2  Brezhnev and stability, 1964–82



3  Political stagnation, 1970–85.
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1 Khrushchev’s reforms and de-Stalinisation


From 1955 to 1964 Soviet leaders tried to reform the government. The reforms were radical, but did not alter the fundamental politics or economics of the Soviet Union. Specifically, while Soviet leaders recognised there were problems with the system, they accepted the foundations of a single-party state and central economic planning laid by Lenin and Stalin. Within this framework, Khrushchev wanted to regenerate the Soviet Union. He believed in the revolutionary goals of Lenin and wanted to create a society of plenty, in which there was no poverty and no inequality. Moreover, he believed that mass commitment to the revolution was central to the future of Communism. Therefore he wanted to encourage greater public participation in politics and greater dynamism within the Party. He also wanted to create a humane form of socialism in which people were free from the threat of arbitrary terror. In this sense he rejected Stalin’s belief that terror was central to revolutionary transformation.


While Khrushchev had clear aims, he lacked a coherent plan. He was naturally impulsive and therefore had a habit of announcing bold plans without thinking them through and making unrealistic promises. Consequently, he often announced major changes and then backtracked. Khrushchev’s repeated retreats also reflected the fact that his authority was never as complete as that of Lenin or Stalin. Other Soviet leaders were willing to challenge his authority and force him, on occasion, to back down.


His impulsiveness, inconsistency and his relative weakness within government were all factors that contributed to his fall in 1964.
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Note it down


Using the 1:2 method, make notes on the stages by which reforms were introduced in the years from 1953 to 1964. You can use different coloured pens to distinguish the goals of reform, the methods used and the outcomes of reform.
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Leadership struggle



Stalin’s death led to a struggle for power. The power struggle from 1953 to 1955 was the context in which the first reforms and the first steps to de-Stalinisation took place.


Stalin dominated the Soviet Government. His authority was unique. Although he had many positions in the Party and government, his power was based on his reputation and his willingness to use terror. In that sense, his power was personal; it was not based on his positions either in the Party or in the government. Although new people filled his positions in the Party and the government, none of them could claim to be the undisputed leader of the Soviet Union. Unlike Lenin, Stalin left no ‘Testament’: no indication of who he wanted to replace him as leader.


Contenders for power


Immediately following Stalin’s death there were three main contenders for power, each with their own powerbase.





•  Georgy Malenkov was rumoured to be Stalin’s choice for successor. Following Stalin’s death Malenkov replaced Stalin as Premier of the Soviet Union, the head of the Soviet Government. Malenkov’s powerbase was the Soviet state, which he assumed was superior to the Communist Party.



•  Lavrentiy Beria (see page 86) was the head of Stalin’s political police. He was responsible for implementing Stalin’s terror and was deputy Premier in Stalin’s last years. His powerbase was the MVD: the Soviet political police.



•  Nikita Khrushchev became Secretary of the Central Committee on Stalin’s death. He had no state role. The Party was his powerbase; he was a popular member of the Politburo with a reputation for being the ‘apparatchik’s apparatchik’.





Early government reforms


Stalin’s heirs were faced with a series of problems, which prompted discussion of reform. Stalin had successfully turned the Soviet Union into a military and industrial superpower. However, he left a major political problem: Stalin’s power was personal; it was independent of the Party or the state. Therefore on his death there was a power vacuum, which threatened to cause chaos within the government. Malenkov and Khrushchev attempted to address this by shifting the balance of power away from the leader, and in so doing ensuring that the state and the Party had independent power.
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Nikita Khrushchev, 1894–1971




[image: ]




Khrushchev was born in the Ukraine in 1894. He worked as a miner in the Ukraine, joining the Bolsheviks in 1918, and served as a Political Commissar in the Red Army during the Russian Civil War. In the early 1920s there is evidence that he supported Trotsky in debates over economic policy. Nonetheless, in the early 1930s he developed a good relationship with Stalin. He was elected to the Central Committee in 1934 and became the leader of the Communist Party in the Ukraine in 1935. In the mid-1930s he publicly supported the terror.


He had little formal education, but had great faith in the communist system. In fact, he believed that his rise from poverty to the leadership of a global superpower was evidence of the superiority of the Soviet system. His poor background made him popular with ordinary Russians. While working for Stalin he came to believe that reform was essential to ensure a good standard of living and freedom from terror. He remained committed to Soviet socialism, believing it to be a superior system to capitalism and democracy until his death in 1971.


Georgy Malenkov, 1902–1988
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Born in 1902 into a relatively wealthy farming family, Malenkov joined the Bolsheviks during the Russian Civil War. He served in the Red Army and became an ally of Stalin in the 1920s. He played an important role in the fall of Yezhov in 1938 (see page 85) and was promoted to the Politburo in 1941.


After Stalin’s death he and Khrushchev were the leading contenders to succeed Stalin. Malenkov was eclipsed by Khrushchev by the end of 1955. He was expelled from the Party and forced into internal exile for his role in the Great Terror in 1961.
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Beria’s reforms: the MVD


One way in which the new generation of leaders attempted to empower the Party and state was to reduce and restrict the power of the MVD, Stalin’s weapon against the power of the Party and the state.


Initially, Beria led the reform of the MVD. This was partly to calm the fears of his rivals who assumed that he would use the MVD against them, as Stalin had used the MVD against his rivals.


Beria informed the Presidium that the Gulag system had become inefficient and difficult to manage. Indeed, from the late 1940s there were an increasing number of uprisings in the Gulag, including the camps at Steplag, Kolyma and Ozerlag. Beria reformed the system in the following ways:





•  In March 1953 he introduced an amnesty for non-political prisoners who were serving short sentences.



•  The amnesty was extended in April to some ‘counter-revolutionaries’.



•  A Party commission was set up in May to investigate past executions. The Commission rehabilitated 4620 communists who had been executed on the basis of forced confessions.



•  Finally, the MVD lost a great deal of its economic power. The MVD had used Gulag labour to construct factories and power stations, as well as to mine precious metals including gold. These projects were terminated. Prison labour was no longer used in this way and responsibility for mining and construction was passed from the MVD to Soviet economic ministries.





As a result of the reforms introduced by Beria the Gulag population dropped from 2.4 million in 1953 to 1.6 million in 1956. Together these measures significantly undermined the power and authority of the MVD.


Beria’s reforms: the republics


Under Stalin the republics had been dominated by central Soviet institutions. In June 1953 Beria introduced two measures that were designed to make republican governments more representative:





•  He introduced a measure that required all senior Party officials to speak the language of the republic that they worked in.



•  He ordered that all official publications should be available in the languages of the republics as well as in Russian.





Beria’s fall


Beria’s reforms had significantly weakened the MVD. However, his rivals still feared that he would use the secret police to terrorise and eventually execute them. Therefore Khrushchev and Malenkov organised a plot to arrest and execute Beria. At a meeting of the Presidium in June 1953, Khrushchev accused Beria of handing Soviet secrets to the British government and of crimes against the Soviet people.


Beria was arrested, tried and executed. At his trial Malenkov accused Beria of using the MVD against the Party. In this sense the trial and execution of Beria was another way of restricting the power of the MVD and restoring the power of the Party.


Beria’s arrest removed one of the main contenders for power. From mid-1953 to the end of 1954 Khrushchev and Malenkov effectively ruled as a duumvirate.


Khrushchev’s early government reforms


Although Khrushchev and Malenkov worked together after Beria’s arrest, they were still engaged in a competition for power. Therefore Khrushchev’s reforms were designed to achieve two related goals: he wanted to enhance his own power and also the power of the Party at the expense of Malenkov and the state.


Personnel changes


One of Khrushchev’s first attempts at reform involved replacing Stalin’s supporters with his own. Khrushchev used his position as Secretary of the Central Committee to replace senior officials throughout the Party. Between 1953 and 1956 Khrushchev replaced around half of the regional Party secretaries and 44 per cent of the Central Committee.


In so doing, he secured his position within the Party by filling the top levels of the Party with people who were loyal to him and people who were prepared to back reform.


Khrushchev’s anti-bureaucracy campaign


Having secured his position within the Party, Khrushchev’s second initiative was designed to weaken the state.


Khrushchev proposed cutting bureaucracy by devolving power from the Soviet Government to republican governments. This was a direct attack on Malenkov’s powerbase.


In mid-1954 Khrushchev restructured government, cutting the number of central Soviet ministries from 55 to 25. The amount of economic power exercised by the republics increased. The reforms meant that the proportion of Soviet industry controlled by central government dropped from 68 per cent to just 44 per cent.


Khrushchev’s reforms, and the apparent success of his agricultural Virgin Lands Scheme (see page 61), meant that Malenkov lost the Premiership in February 1955. Nikolai Bulganin, the new Premier, was one of Khrushchev’s key allies.


De-Stalinisation


Khrushchev and Malenkov were united in the desire to end important aspects of Stalin’s rule. Both men wanted to ‘humanise’ Communism. They wanted to end Stalin’s use of terror and enhance the lives of Soviet citizens by improving their standard of living, ending widespread terror and enriching Soviet culture with new novels, plays and other art forms.


Equally, both men were Leninists. Therefore they rejected the ‘cult of personality’ that had grown up around Stalin. Both men wanted to shift the focus from Stalin as a heroic leader to the achievements of the Communist Party and the Soviet people.


The process of ending the ‘cult of personality’ and the widespread use of terror started immediately after Stalin’s death. The first steps towards ending the cult of Stalin were small. Plans to turn Stalin’s dacha into a museum celebrating his life were scrapped. Additionally, the annual Stalin prizes were cancelled and, for the first time since the 1930s, there were no official celebrations of Stalin’s birthday. Newspapers, which had traditionally been full of quotes from Stalin’s works, started quoting from Marx and Lenin.
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The cult of Stalin – cult of personality


The cult of Stalin refers to the use of art, photography, books, newspaper articles and speeches to stress Stalin’s genius. According to the culture of the 1930s, Stalin was responsible for every major Soviet victory since Lenin’s death. The cult of Stalin was an attempt to win the loyalty of the Soviet people. It was also one of Stalin’s methods for ensuring his authority was independent of the Party and state.


The cult of personality was a different concept. Khrushchev used the phrase to criticise Stalin’s style of government: the abandonment of collective leadership and the introduction of personal rule.





[image: ]


The Secret Speech


The first wave of de-Stalinisation focused on ending the cult of Stalin. Khrushchev wanted to go further and formally criticise Stalin. However, criticising Stalin was a huge risk. Stalin was widely respected as a founder of the Soviet system – criticising Stalin risked undermining the authority of the Soviet Union and Communism. It also risked outraging the Party, since many senior Communists still respected Stalin. Equally, many feared that criticisms of Stalin would reflect badly on them as they had helped implement Stalin’s policies.


Khrushchev negotiated with the Presidium to present his criticisms of Stalin at a secret session of the Twentieth Party Congress of 1956 – the first Congress since Stalin’s death.


The Congress started on 14 February. On the night of 25 February, a day after the Congress officially finished, delegates were summoned to an unscheduled late night meeting. Khrushchev spoke for four hours, setting out a profound critique of Stalin’s rule.


Khrushchev focused on the cult of personality. He argued that Stalin had abandoned collective leadership and set himself up as dictator. In so doing, Khrushchev argued, Stalin had placed himself above the Party and robbed the Party of its leading role. Without the wisdom of the Party, Stalin made serious mistakes, such as purging the Red Army immediately prior to the Second World War (see page 19). Moreover, he claimed that Stalin committed enormous crimes, particularly during the terror when he ordered the deaths of hundreds of thousands of innocent people. Khrushchev revealed the scale of the terror, which Stalin had concealed from the Party, and quoted the criticism of Stalin in Lenin’s Testament, which had also been kept secret.


Significantly, Khrushchev did not criticise Stalin’s policy of industrialisation or collectivisation (see page 17), or any aspect of communist ideology. Indeed, Khrushchev consistently argued that the foundations of the Soviet system were sound.


Stalin was widely loved and respected in the Party and therefore many of the delegates were profoundly shocked. Some accounts indicate that some delegates were so horrified that they suffered heart attacks during Khrushchev’s speech. Others apparently took their own lives after learning the true scale of Stalin’s crimes.


The speech was kept secret. However, printed copies were sent to senior Communists across the Soviet Union and Eastern Europe. One of these was leaked to the West, and with the help of the CIA it was printed in the New York Times. Nonetheless, while the content of the Secret Speech became well known in the West, it was not fully published in the Soviet Union until 1989.


Ending terror


Another important aspect of de-Stalinisation was further steps to deal with the legacy of the terror.


In May 1954 Khrushchev and Malenkov set up a special commission to review the cases of political prisoners who had been sent to the Gulags. In the first year, progress was slow and only 4620 of the 113,739 political prisoners were released.


However, following the Secret Speech the process escalated. In June 1956, 51,439 prisoners, including 26,155 political prisoners, were released. The cases of political prisoners who had been executed were also reviewed. By 1961 half of those who had been executed by Stalin had been rehabilitated.


The problems of de-Stalinisation


Khrushchev’s criticisms of Stalin caused a series of problems. Communist Parties in Hungary and Poland began their own process of de-Stalinisation. In Hungary students and artists seized the opportunity, initiated a revolution and elected a new prime minister. After the new government ended its military alliance with the Soviet Union, Khrushchev ordered Soviet troops to crush the revolution.


There was also unrest in the Soviet Union. Leaked information about Stalin’s crimes was shocking and caused some to question the legitimacy of communist rule. Indeed, there were student demonstrations in favour of multi-party democracy at Moscow State University in 1957. Again, they were supressed by the communist authorities.


Khrushchev’s retreat


Stalinists in the Party argued that de-Stalinisation had destabilised the government. Some moderates also accused Khrushchev of reforming too fast.


Khrushchev responded by backtracking, agreeing with his critics that the Soviet people were ‘not ready’ to know the truth about Stalin. In June the Central Committee issued a statement to the Party revising Khrushchev’s speech. In October the editors of the Soviet magazine Questions of History were disciplined for publishing revelations about Stalin’s terror. In mid-December Khrushchev secretly authorised the establishment of a Special Commission, headed by Leonid Brezhnev, to supress anti-communist activities. Finally, Khrushchev’s New Year’s Eve speech acknowledged that all communists were ‘Stalinists’. Clearly, by the end of 1957 radical de-Stalinisation had come to a halt.


Democratisation and decentralisation


Khrushchev continued with political reform in 1957 introducing measures to reduce the size and power of the central party.


Democratisation was designed to increase the participation of workers in the government. It did not, however, involve new elections. Rather, Khrushchev introduced two measures:





•  He allowed an expansion of Party membership. Membership grew from 6.9 million in 1954 to 11 million in 1964. This made it more democratic as a greater proportion of its members, 60 per cent by 1964, were workers of peasants.



•  He introduced fixed terms for senior Communists to ensure that they were replaced regularly. As a result, two-thirds of regional Secretaries and the Presidium were replaced between 1957 and 1961.





In order to decentralise the Party he abolished some of the central ministries that oversaw the economy and devolved power to 105 newly created economic councils (see page 64). He moved the Ministry of Agriculture away from Moscow to make it ‘closer to the fields’.


Khrushchev’s reforms meant that many Communist officials were demoted, lost their jobs, or were forced to move away from Moscow. Consequently, there was renewed criticism of Khrushchev within the Party.


The Anti-Party Group


Discontent over Khrushchev’s reforms and the problems created by de-Stalinisation led to an attempt to overthrow Khrushchev. In June 1957 a majority of the Presidium, led by Malenkov, voted to replace Khrushchev.


Khrushchev argued that the decision to replace him could only be taken by the Central Committee – where Khrushchev had a majority of support. As a result, Khrushchev survived the attempt to oust him and sacked his opponents. Khrushchev consolidated his position in March 1958 by taking over the position of Prime Minister in addition to his existing offices.


The attempted coup of 1957 was significant for the evolution of Soviet government for two main reasons:





•  It demonstrated that senior Communists would no longer use political terror against each other.



•  It recognised that the power of the Party leader depended on the support of the Central Committee.






Khrushchev’s final reforms



The Twenty-Second Party Congress of October 1961 introduced Khrushchev’s final major political reforms.


The main focus of the Congress was economic. However, Khrushchev also used the Congress to restart the process of de-Stalinisation. He accused Stalin of being involved in Kirov’s murder (see page 20). Additionally, the Congress voted to remove Stalin’s body from public display.


Khrushchev also introduced a radical Party reform. He built on his earlier democratisation measures by introducing fixed terms for all jobs within the Party, including a fixed 16-year term for Central Committee members.


Khrushchev’s 1962 Party reforms effectively split the Party in two. According to the new structure, one half of the Party was put in charge of agriculture and the other of industry. This new division went right to the top of the Party: the Central Committee was divided into industrial and agricultural bureaus. Khrushchev hoped that this reform would boost economic growth.


Khrushchev’s fall


Khrushchev’s political reforms created discontent in the Party, and his economic reforms failed to boost economic growth (see page 64). From the late 1950s, the economy slowed. Consequently, there was no possibility of fulfilling Khrushchev’s rash promises. Finally, there were concerns that Khrushchev’s foreign policy was rash and dangerous. As a result, in June 1964 senior figures in the Presidium began plotting Khrushchev’s overthrow. In October Khrushchev was summoned to a special meeting. He was criticised for mishandling the economy, foreign policy and creating his own cult of personality. On this occasion the plotters had the backing of the majority of the Central Committee. Consequently, Khrushchev retired, and the Soviet media put out the story that he had stepped down due to ill health. Khrushchev was given a pension and lived under guard for the remaining seven years of his life.
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Khrushchev’s foreign policy


Khrushchev was leader of the Soviet Union during a crucial phase in the Cold War. Many of his decisions and policies were designed to try to win an advantage over the USA. One of the key areas of conflict during the Cold War was Germany, which was divided between the communist East and capitalist West. Khrushchev gave President Kennedy an ultimatum to withdraw his forces from West Berlin and give control of the whole city to the communists. Kennedy refused and forced Khrushchev to back down – humiliating the Soviet Union. Khrushchev also sent nuclear weapons to Cuba, around 100 miles from the USA. This created an international crisis that almost ended in nuclear war. Again, Khrushchev was forced to back down. The repeated policy failures leading to the Soviet Union’s humiliation were crucial to Khrushchev’s fall because senior Communists wanted a foreign policy that emphasised Soviet strength.
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The extent of de-Stalinisation


Khrushchev’s biggest political achievement was ending the use of political terror against party officials. Khrushchev’s enemies were sacked, but not tortured or killed. Similarly, Khrushchev himself was allowed to retire, with a pension, a car and various luxuries, rather than being shot or publicly humiliated. In this sense he achieved a significant degree of de-Stalinisation.


He also ended Stalin’s system of personal rule. Under Khrushchev the Party gained a new authority. Unlike Stalin, Khrushchev was forced to work with other senior figures in the Party. The Secret Speech, for example, had to gain the approval of the Presidium, and the Central Committee forced Khrushchev to accept revisions to the Speech several months after it was given. Unlike Stalin, Khrushchev’s power depended on retaining a majority of support on the Central Committee. Indeed, Khrushchev’s overthrow in 1964 demonstrated the extent to which the Party’s power was independent of the leader by 1964.


However, some aspects of Stalinism lived on. The government never publicly rejected his legacy or admitted the extent of Stalin’s crimes. Therefore, under Brezhnev, the government was able to revive the cult of Stalin. The adoration of Stalin was never as widespread as it had been between 1930 and 1953, but Brezhnev authorised articles celebrating Stalin on important anniversaries between 1964 and 1982.


Clearly, Khrushchev was able to achieve a significant degree of de-Stalinisation in the sense that political terror was never used on a mass scale again. However, de-Stalinisation was never completed as he refused to publicly denounce the former leader and therefore left his reputation intact.



2 Brezhnev and stability, 1964–82



Khrushchev’s government was associated with ‘reform’. Leonid Brezhnev’s government, by contrast, focused on ‘stability’ and ‘restoration’. Brezhnev’s first acts were to reverse Khrushchev’s most unpopular Party reforms. He also reversed aspects of de-Stalinisation and ended economic change. Nonetheless, the restoration was not complete. Brezhnev, like Khrushchev, rejected the use of mass terror.


The emphasis on stability created new problems. Brezhnev’s policies led to stagnation, and the last years of Brezhnev’s rule were characterised by ever growing problems and corruption which Brezhnev failed to address.


Under Brezhnev the revolutionary aspects of Soviet society became less obvious. He believed that the revolutionary transformation of society had been achieved between 1917 and 1930. Therefore the Communist Party merely needed to keep going on the course set out by Lenin and Stalin. In this sense, under Brezhnev the Party became the defenders of the status quo rather than a revolutionary force for change.
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Note it down


Using bullet points, or the 1:2 method, make notes on Brezhnev’s goals, his methods and the outcomes of his reforms in the period 1964–82. Make sure to note down specific phrases such as ‘stability of cadres’ with their meanings.
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Restoration


The post-Khrushchev leadership was keen to undo Khrushchev’s governmental reforms. During 1964 and 1965, the new leadership was based on an informal pact between Brezhnev and Alexei Kosygin, who together had a great deal of support in the Politburo and Central Committee. The pact was designed to ensure government stability. In general terms, Brezhnev and Kosygin committed themselves as follows:





•  They ensured that the two top jobs in government were not occupied by the same person – in order to stop the emergence of an all-powerful leader. Brezhnev led the Party as General Secretary; Kosygin was Premier and therefore had the most important job in the Soviet state.



•  They divided key posts in government roughly equally between supporters of Brezhnev and Kosygin.



•  They ensured that Party and state officials kept their jobs for long periods to limit the opportunities for patronage.
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Leonid Brezhnev, 1906–81
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Brezhnev was born in the Ukraine to a Russian family. From 1923 he worked as a metal worker. He studied at a technical school in 1927 and 1928, joining the Party in 1929. From 1929 to 1937 he had a succession of minor roles in the Party. His big break came during the Great Terror, when he received a series of promotions as his superiors were purged. He was also promoted during the Second World War. By 1950 he was First Secretary of the Communist Party of Moldova, and in 1952 Stalin promoted him to the Politburo. He backed Khrushchev against the Anti-Party Group in 1957, but he was no reformer. His notes from the period show that he was critical of Khrushchev’s de-Stalinisation. Following 1962 he became increasingly critical of Khrushchev, and was central to the plot to remove him from mid-1964.


Brezhnev was known for his vanity. He encouraged journalists to praise his genius and regularly awarded himself medals. Indeed, during the 1970s he encouraged the creation of his own cult of personality. Brezhnev, a lifelong smoker, suffered his first heart attack in 1975 and was in poor health for the rest of his life.


Alexei Kosygin, 1904–1980
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Kosygin was born in 1904 into a working-class family. He fought for the Red Army during the Russian Civil War before becoming an industrial manager. He joined the Party around 1930 and gained important economic posts during the Second World War. He played a prominent international role under Khrushchev and continued to play an important role in government after his fall.


Kosygin was an advocate of economic reform in the 1960s (see page 65), but his reforms were short lived. He was eclipsed by Brezhnev in the early 1970s. Kosygin remained a senior member of the government until he resigned due to ill health in 1980.
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This pact held from 1964 to 1970 when Kosygin lost his job as Premier and Brezhnev emerged as the most powerful person within the Soviet leadership.


‘Stability of cadres’


Brezhnev’s government was based on the policy of ‘stability of cadres’, or ‘trust in cadres’. In essence the policy discouraged promotions or demotions within government. This was part of the Brezhnev–Kosygin pact and ensured that there would be few battles over patronage.


‘Stability of cadres’ replaced Khrushchev’s 1961 policy of limited terms, which had been very unpopular with the Party. In this sense the policy ensured support for the new leaders from government officials because it gave them job security.


Restoration of the Party


Brezhnev reformed the Party, reversing Khrushchev’s key reforms:





•  Centralisation: Khrushchev had repeatedly tried to break up central ministries and decentralise government by giving more power to the republics. Brezhnev reversed this, re-establishing the all-union ministries that Khrushchev had abolished.



•  Brezhnev ended the split between industrial and agricultural wings of the Party.



•  Article 6 of the new 1977 Soviet Constitution, known as the ‘Brezhnev Constitution’, officially recognised the Party’s leading role in Soviet society. In this sense, it established the superiority of the Party over the state.
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3 Political stagnation, 1970–85


Brezhnev’s government reforms led to a period of stagnation at the top of government. His policies meant that change in government was slow, or in many cases non-existent.



Gerontocracy



Brezhnev’s ‘stability of cadres’ policy led to an increasingly static government, in which there was little change:





•  Between 1964 and 1971, only two people were promoted to the Politburo.



•  Between 1966 and 1971, between 80 and 90 per cent of Central Committee members retained their jobs following Party Congresses.





Consequently, the government aged. Brezhnev’s style of government was nicknamed a gerontocracy: rule of old people. During the late 1960s and 1970s the average age of senior officials kept rising (see Tables 3 and 4).


Table 3: Average age of members of the Politburo.






	Politburo






	Date

	Average Age






	1966

	58






	1972

	62






	1982

	75







Table 4: Average age of members of the Central Committee.






	Central Committee






	Date

	Average Age






	1961

	52






	1981

	62







As the government aged it became less effective:





•  Brezhnev’s critics argued that his style of government created a generation gap between the government and society. In this sense, Brezhnev’s government no longer understood the society they governed.



•  Senior officials became increasingly ill and therefore unable to perform their jobs.



•  ‘Stability of cadres’ meant that there were extremely limited opportunities for promotion. As a result, middle-ranking officials were effectively stuck in dead-end jobs with no prospect of promotion.



•  The system provided no incentives to work hard because there were so few opportunities for promotion.





Corruption


Under Brezhnev sackings were rare. Opportunities for advancement were also extremely limited. This created the context for huge corruption. Soviet officials, who could not grow rich through hard work and promotion, used their positions to grow rich, knowing they were unlikely to be disciplined.


One form of corruption was to sell goods on the black market. For example, Yury Sokolov, the director of a major Moscow food store, took bribes from rich customers for passing on luxury food.


Brezhnev was implicated in the corruption. His daughter Galina Brezhneva was able to get access to diamonds. One of her lovers smuggled millions of pounds worth of diamonds out of the USSR. He was eventually prosecuted after Brezhnev’s death.


Andropov and Chernenko


Between Brezhnev’s death in 1982 and Gorbachev’s appointment as General Secretary in 1985, Russia was led by Yuri Andropov and Konstantin Chernenko. Both men were old and part of the gerontocracy that had emerged under Brezhnev. Andropov recognised that there were problems with the system, and both men attempted cautious reforms. However, neither was prepared to introduce fundamental reforms.
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Note it down


Using bullet points or the 1:2 method, (see page x) make notes on Andropov and Chernenko. Note down the extent to which they wanted reform, the extent to which they changed the Soviet system and the obstacles to their rule.
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Andropov, November 1982–February 1984


Andropov became Soviet leader at the age of 68. He believed that the Soviet system was fundamentally stable but that minor reforms were necessary. Specifically, he believed that the Soviet Union needed to become a more disciplined nation. In order to achieve this he introduced three main reforms:





•  He abandoned the ‘stability of cadres’ policy, replacing a quarter of senior officials.



•  He introduced small-scale economic reforms focusing on labour discipline (see pages 66).



•  His most important initiative was an anti-corruption campaign. The campaign:







    •  attacked senior figures, for example he prosecuted Red Army General and Minister of the Interior Nikolai Shchelokov and investigated Galina Brezhneva’s lover ‘Boris the Gypsy’


    •  included media exposés of corrupt officials.





He died just over a year after his appointment as Soviet leader. His biggest achievement was removing old and corrupt officials and allowing a younger generation to rise within the Soviet Government.


Chernenko, February 1984–March 1985


Chernenko was also unwilling to consider major reform. Indeed, he was 72 years old and already extremely ill at the time he became leader. Poor health meant that he could not play much of a role in the government for much of his 13-month period as leader. Due to Chernenko’s ill health Gorbachev routinely led meetings on his behalf. The brevity of his rule and his ill health meant that he achieved very little as Soviet leader.
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Konstantin Chernenko, 1911–1985
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Born in 1911 into a working-class family, Chernenko joined Komsomol (Communist Youth League) in 1929 and the Party in 1931. He completed military training and later worked for a Party propaganda department. He became friends with Brezhnev in the late 1940s. He gained high office following Khrushchev’s fall, and due to his continued friendship with Brezhnev became a senior figure in the Party during the 1970s. He was one of the front-runners to replace Brezhnev on his death in 1982. Despite being extremely ill, he became leader of the Soviet Union in 1984, and was the first Soviet leader to use a stairlift to get to the top of Lenin’s tomb.
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Conclusion


The period 1953–85 was dominated by two attempts to create a stable revolutionary government. Khrushchev wanted to maintain revolutionary dynamism by introducing decentralisation, a degree of democratisation and keeping the leadership of the Party constantly changing. This was part of his broader vision to keep the focus of the Communist Party on building socialism, fulfilling the goal that Lenin had set out in 1917. Khrushchev was also determined to end the Stalinist terror and create a humane form of socialism. Khrushchev’s style of government led to a series of problems, most obviously instability, which played a part in his downfall.


Brezhnev stressed stability. From 1964 to Brezhnev’s death in 1982 revolutionary transformation was largely forgotten. Brezhnev believed that the fundamental transformation had already taken place under Lenin and Stalin and that the Party merely had to administer their legacy. This approach created problems of its own. Reform stopped, the leadership became increasingly old and out of touch, and the revolutionary goals of Lenin were largely forgotten. Brezhnev died in 1982 leaving his successor huge economic and political problems. Andropov and Chernenko continued to govern in a way that reflected Brezhnev’s essential style. Both initiated small-scale economic reforms (see pages 65–66), but neither was prepared to address the Soviet Union’s fundamental problems or reform the foundations of the regime.
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Work together


Working with a partner, write a list of the problems facing the Soviet Government in 1953. On separate pieces of paper list the solutions to these problems – one of you should list the solutions tried by Khrushchev, the other the solutions tried by Brezhnev.


Check each other’s lists. Is it clear which solution relates to which problem? Has your partner missed anything? Add additional items to the list where necessary.


Discuss which approach to the problems of the Soviet Union was more successful. Having done so, you should both write two paragraphs explaining the strengths and weaknesses of the different approaches and evaluating which approach was better.
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Chapter summary





•  With the death of Stalin in 1953 the Soviet Union lost a strong leader.



•  Stalin’s heirs tried to deal with the problems that they had inherited.



•  They succeeded in ending the use of political terror against the government.



•  Khrushchev’s reforms threatened to destabilise the Soviet system.



•  Brezhnev’s more stable approach to government led to stagnation.



•  Between 1982 and 1985 Andropov and Chernenko proved unable to revive the system.
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Recommended reading




E. Bacon and M.A. Sandle (eds.), Brezhnev Reconsidered (Macmillan, 2002), pages 25–32. Bacon and Sandle consider Brezhnev’s style as Soviet leader.


G.L. Freeze (ed.), Russia: a History (Oxford, 2002), pages 347–53. Freeze provides an overview of the Khruschev years.


R.G. Suny, The Soviet Experiment, (Oxford, 1998), pages 449–50. Suny discusses the problems facing Soviet leaders after Stalin’s death.








[image: ]



Essay technique: Deploying detail


So far we have looked at how to structure your answers with a clear line of argument (see page 93–4). This is essential, but you also need to ensure that your paragraphs are sufficiently detailed. Vague or imprecise statements will weaken your essay.


What is detail?


Essentially, correct dates, proper names and statistics are all examples of detail. You can also increase the level of detail in your essays by using correct technical vocabulary: words or phrases like ‘Marxism’ or ‘Politburo’ that you have learned while studying this unit.


How to use detail


You should use detail to support the points that you are making. The main points provide the overall structure for the essay; the details help prove the points that you are making.


Imagine you are answering the following question:
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How far did the Russian economy improve in the years 1921–64?
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You might want to make the point that heavy industry improved. You could support this by referring to the achievement of the Five-Year Plans. Specifically, you could quote statistics for the production of iron, steel, coal and oil showing how they improved from 1921 to 1964.
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Activity: Adding detail


Here is a plan in answer to the question above:
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•  Paragraph 1: Agriculture improved from 1921 to 1964.


•  Paragraph 2: Industry production increased from 1921 to 1964.


•  Paragraph 3: Collectivisation created significant problems for agriculture, 1928–64.


•  Paragraph 4: The Five-Year Plans led to significant problems in industry, 1928–64.
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Using your notes, find at least three pieces of detail to support each of these points.


Try to use a variety of types of detail. If possible make sure you use statistics, dates, the names of people and organisations and technical vocabulary.
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Activity: Question practice





1  Was political stagnation the main consequence of Brezhnev’s rejection of reform? Explain your answer. [AS]




2  To what extent were Khrushchev’s reforms successful in the years 1953–64? [AS]




3  How far did de-Stalinisation change the nature of Soviet politics in the years 1955–85?



4  How far do you agree that Soviet politics were transformed in the years 1953–85?
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Paper 1 Russia, 1917–91: from Lenin to Yeltsin


Theme 2 Industrial and agricultural change, 1917–85


The Big Picture


The Soviet economy changed radically from 1917 to 1985. Initially, Soviet leaders faced a fundamental problem: how would a socialist economy work? Socialists had produced extensive criticisms of capitalism, but there were no blueprints or detailed plans for a socialist economy.


Between 1917 and 1921 Lenin improvised, coming up with a series of economic alternatives to traditional capitalism. All of his policies created political and economic problems. Stalin was also forced to improvise in order to solve the problem of a socialist economy. He introduced ‘the Great Turn’, massive industrial and agricultural change, ending capitalism in agriculture and industry. Stalin’s model of state-run farms and state-planned industry was the foundation on which successive Soviet leaders built, at least until 1985. All accepted the essential system that Stalin had created. Nonetheless, Stalin’s system was problematic. It was inefficient, wasteful and economic growth did not lead to higher standards of living. Moreover, Stalin’s ‘Revolution from Above’ ruined agriculture. Therefore Soviet farms were never able to provide the food that the nation needed.


However, Stalin’s industrial policies did lead to some successes; they helped the Soviet Union fight and win the Second World War. Moreover, his economic methods helped rebuild the Soviet Union after the war.


After Stalin, economic priorities changed. Khrushchev and Brezhnev both accepted the need for a socialist economy to provide a comfortable standard of living for the Soviet people. Khrushchev introduced economic reforms to try to ensure that the Soviet economy outperformed the West and that Soviet citizens enjoyed a higher standard of living than people in capitalist nations. This required a massive expansion of agriculture, including the cultivation of large areas of land known as the Virgin Lands. His vision also required investment in light industry. After initial success Khrushchev’s policies failed. Khrushchev’s failures discouraged future leaders from initiating significant reforms. As a result, the essential problems of the system remained unsolved. Under Brezhnev economic growth declined. Nonetheless, due to international trade and international loans living standards improved. In this sense the growing crisis was hidden from Soviet citizens and even many in the government.


Ultimately, the Soviet economy was an attempt to do away with the problems of capitalism and produce a fairer and more efficient system. By 1985 it was clear that the Soviet economic experiment had failed.
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In this theme you will consider the following:




•  Lenin’s economic policies including War Communism and the New Economic Policy


•  Stalin’s economic revolution: the Five-Year Plans in industry and the collectivisation of agriculture


•  Economic change 1953–85, reform, modernisation and decline.
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TIMELINE






	1917 October

	Decree on Land






	1918 March to June

	Lenin introduces state capitalism






	1918 July–December

	Lenin introduces War Communism






	1921 March

	Lenin introduces the New Economic Policy






	1923

	The Soviet Economy experiences the ‘scissors crisis’






	1928 July

	Stalin introduces emergency economic measures ending the NEP






	1928 October

	Stalin introduces the First Five-Year Plan






	1929 December

	Stalin orders compulsory collectivisation of Soviet farms






	1932

	Beginning of the Great Famine






	1941 June

	German invasion leads to Soviet entry into the Second World War






	1945 December

	Introduction of the Fourth Five-Year Plan






	1953 September

	Khrushchev launches the Virgin Lands Scheme






	1957 February

	Khrushchev launches the sovnarkhoz reforms






	1958 September

	Khrushchev launches the Corn Campaign






	1959 January

	Khrushchev launches the Seven-Year Plan






	1962 February

	Khrushchev divides the Party between agriculture and industry






	1968 January–August

	‘Kosygin reforms’ are introduced and scrapped






	1982 November

	Andropov initiates anti-corruption campaign










2a: Towards a command economy, 1917–28
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Overview


Lenin knew that a political revolution alone would never destroy capitalism. Socialism and Communism entailed profound economic changes, changes that would end the economic exploitation that was essential to capitalism. Additionally, socialism and Communism required the construction of a highly advanced economy.


However, Lenin also had other objectives. In the early stages of his regime he needed to win the Civil War, and after 1921 he needed to rebuild and stabilise the regime. Lenin’s economic policies reflected all of these concerns: his desire to destroy capitalism, his need to supply his troops and his need to compromise to retain power. As a result, Lenin’s policies changed, as he replaced one policy with another, often in ways that reflected radically different values.


This chapter considers:





1  The nationalisation of industry



2  War Communism



3  New Economic Policy



4  State control of industry and agriculture.
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1 The nationalisation of industry


Lenin’s economic policy in the period 1917–21 went through a series of radically different phases. These reflected the problems that Russia faced, Lenin’s hopes about the future and his fundamental beliefs about economics and politics. In short, the nationalisation of industry was a revolutionary response to an unprecedented set of problems.
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Note it down


As you read this section make two spider diagrams (see page x) on the same large sheet. The first should deal with the problems facing Lenin in the early months of the revolution. The second should focus on the economic measures that Lenin introduced in the first phase of the revolution. Having completed both, draw links between the two spider diagrams to show how the problems of 1917–18 and Lenin’s ideas led to the creation of Lenin’s first economic policy.
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Capitalism and Communism


One of the key problems facing Lenin was uncertainty about what a communist economy would entail. Marx had produced a detailed analysis of the strengths and weaknesses of capitalism. However, he had been deliberately vague about the nature of a future communist society. He argued that once capitalism was abolished, the economy would be organised according to ‘a common plan’, but he refused to speculate about the future, arguing that it was impossible to describe the future in detail.


Marx was clear, however, that a communist society would have an extremely advanced economy. Indeed, most communists in the early twentieth century believed that a revolution would take place in Britain, the USA, Germany or France, as these were the most advanced economies in the world at the time.


Problems facing Russia


Russia had serious economic problems in the early twentieth century. Specifically, compared to Western European nations and the USA, Russia’s economy was unsophisticated and backward. Russia had begun to industrialise and between 1890 and 1914 the economy grew significantly. Even so, Russia was still far behind more developed nations in terms of industrialisation. Therefore the majority of Marxists and socialists in Russia at the time of the February Revolution expected the revolution to lead to capitalism, and that a socialist revolution was many years away.


Not only was the Russian economy generally less developed than that of the West in 1917, it was also shattered during the First World War. Any new government would need a policy to help reconstruct the economy and promote economic growth.


Lenin’s early ideas


Unlike many Marxists, Lenin believed that socialism was possible in Russia in 1917. He argued that as the revolution spread across Europe, advanced countries would send aid to developing countries and therefore the Russian economy would develop rapidly without the need for capitalism.


However, while Lenin was waiting for the revolution to spread, he needed to begin rebuilding the Russian economy to ensure that people had food and that the economy was strong enough to provide the materials necessary to defend the revolution.


Lenin initially argued that the October Revolution had created a society between capitalism and socialism. The revolution, he argued, had destroyed capitalism, but the economy was not strong enough to start building socialism. Lenin called the new phase ‘state capitalism’.


Lenin’s vision of a socialist economy


Lenin believed that a socialist economy would be highly efficient. He believed that it required modern technology, expert management and well-educated and highly disciplined workers. Workers would be free, in the sense that they would no longer be working for capitalists. This would mean that workers were better paid and better treated, and therefore they would no longer resent the work that they did. However, Lenin’s vision of socialism had little time for leisure, and Lenin had no sympathy for laziness. Rather, he assumed that after the revolution people would find their work extremely fulfilling and therefore large amounts of leisure time would be unnecessary. Lenin’s various economic policies reflected his faith in expertise, his desire for efficiency and discipline, and his disregard for leisure.


State capitalism


In essence, Lenin’s state capitalist economy was based on the nationalisation of industry. Nationalisation ended capitalism by taking industry away from middle-class owners. All nationalised industries were run by the Supreme Soviet of the National Economy, or Vesenkha – a group of economic experts. The Vesenkha was designed to:





•  ensure factories were properly managed by placing them under the control of well-paid specialists



•  co-ordinate economic production to meet the needs of new society.





Only large industries were nationalised. Small factories and workshops were either controlled by workers or handed back to capitalists.


State capitalism was extremely unpopular. In many ways, there was very little difference between state capitalism and life before the revolution. Therefore many workers and radicals like Bukharin (see page 16) rejected state capitalism in favour of workers’ control. Nonetheless, Lenin ignored this opposition and state capitalism was the official policy of the new government from March to June 1918, when policy had to change due to the outbreak of civil war.


Land reform


Nationalisation of industry was only one part of Lenin’s initial policy.


In order to win support and stimulate agriculture, Lenin introduced land reform. Following Lenin’s 1917 Decree on Land, large estates belonging to the Church or to aristocratic landowners were broken up and peasants were allowed to own the land they worked. Land reform was extremely popular with the peasants.


2 War Communism


War Communism was created as a series of emergency economic measures to ensure communist victory in the Civil War. However, at the same time it embodied some aspects of communist ideology and therefore some radicals believed that War Communism was a step towards a truly communist economic policy.


War Communism was designed to ensure:





•  high levels of industrial production of war goods



•  an efficient allocation of workers



•  food production to feed soldiers, workers and the civilian population.
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Note it down


Using a spider diagram, make notes on the key measures that made up War Communism. Make sure you make notes on the specific nature of the measures. Pay particular attention to technical terms and the detail.
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Measures


War Communism evolved over time as Lenin introduced new economic measures.


‘Food dictatorship’


Lenin introduced a series of measures to ensure food was available to soldiers and workers. Lenin’s ‘food dictatorship’ consisted of the following:





•  Grain requisitioning: Cheka squads were authorised to seize grain and other forms of food from peasants without payment.



•  Rationing: The Supply Commissariat rationed the seized foods. The largest rations went to workers and soldiers, the smallest rations were given to members of the bourgeoisie.






Labour discipline



War Communism also entailed intense labour discipline:





•  In 1918 the working day was extended to eleven hours.



•  In 1919 work was made compulsory for all able-bodied people between 16 and 50 years of age.



•  Harsh punishments were given to workers who were late or were caught slacking.





The abolition of the market


The chaotic conditions of the Civil War led to a breakdown of the existing market. The following measures were introduced to try to abolish the market:





•  The abolition of money: In the short term, the government simply printed more money, which led to hyperinflation. Money became worthless, workers were paid through their rations and many public services, such as tram services, were provided freely.



•  The abolition of trade: Private trade was made illegal.



•  Complete nationalisation: All businesses were taken over by the state.



•  Conscription: Workers were assigned either to work in factories or fight in the army.





Lenin argued that the abolition of money was also a step away from capitalism towards a socialist economy in which economic production and distribution were centrally planned. Bukharin too argued that the abolition of the capitalist market was a major revolutionary achievement. Both agreed that these measures destroyed the power of the capitalist class.


Consequences


War Communism succeeded in keeping the Red Army supplied and allowing them to win the Civil War. However, it led to economic collapse, and failed to abolish the market.


Economic collapse


Firstly, grain requisitioning led to lower rates of agricultural production. The peasants were not paid for their grain or their labour and therefore the policy provided no incentive to work.


Secondly, industrial production declined significantly. Again, there were few incentives to work hard. Hunger also led many workers to leave the cities and seek work on farms where there was more chance of being fed. In total, the industrial workforce declined from 3 million workers in 1917 to 1.2 million in 1922 (see Figure 1), partly due to the war and partly due to workers escaping the cities.
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The extent of economic collapse is clear from Table 1.


Table 1: Economic decline in Russia, 1913–20.






	Commodity

	1913 index

	Production 1920






	Gross output of all industry

	100

	31






	Large-scale industry

	100

	21






	Agricultural production

	100

	60







Growth of the black market


Lenin’s extensive economic controls failed to abolish the market. Historians estimate that only 40 per cent of the food consumed in Russia’s cities came through rationing during the Civil War. Around 60 per cent of the food came from the black market. Moreover, workers were forced to steal government resources in order to make goods that could be bartered for food. For example, metal workers would steal scrap metal and fuel to make cigarette lighters.


Mass poverty


By 1921 the Russian economy was near collapse. There were shortages of all kinds of commodities. By late 1920 workshops in the major cities were closing due to a lack of fuel. Indeed, fuel was in such short supply that the government ordered the destruction of wooden buildings in Petrograd in order to use the wood for fuel. Unemployment rose and harvests declined further. The 1921 harvest was only 46 per cent of the 1913 harvest, and in rural areas a famine began, which led to the deaths of around 6 million people.


Political crisis


Mass starvation and the deepening economic crisis led to a political crisis. Between August 1920 and June 1921 peasants in the Tambov region rebelled against the Communist Government (see page 11). In Kronstadt, too, sailors who had supported the communists unquestioningly in 1917 turned against the government, demanding a return to free trade and new multiparty elections to the soviets. In March 1921 the sailors mutinied (see page 11). The communists responded with extreme force, defending their government with military action. Although both rebellions were crushed, Lenin realised that the political crisis meant the end of War Communism.


Conclusion


War Communism led to military victory but economic ruin. It was also an ideological victory. The abolition of money and of the capitalist market led many communists, including Lenin himself, to believe that War Communism was the foundation on which the new society would be built. Bukharin even welcomed the economic crisis, arguing that the destruction of capitalism needed to be complete before building socialism could start. In that sense, senior Communists did not see the economic crisis as a reason to stop the policy. However, the political crisis was more worrying. Further rebellions risked the end of the Communist Government. In order to save the revolution Lenin was forced to accept an economic compromise.


3 New Economic Policy


Lenin introduced the New Economic Policy (NEP) for a series of reasons:





•  To retain political power: Lenin described the NEP as an economic retreat, which was designed to stop a political defeat. In that sense, Lenin made economic compromises in order to retain political power.



•  To revive the economy: Lenin needed a policy that would stimulate grain production and end the famine.



•  To build socialism: By 1921 it was clear that a European revolution would not happen. Therefore Lenin needed an economic policy that would allow Russia to build socialism without foreign aid.





As 1921 went on, Lenin began to argue that the NEP, rather than War Communism, was the correct economic foundation on which to build socialism. He argued that the Communist Party must learn to trade and use capitalist methods to achieve communist goals. He also emphasised that the NEP would create peace with the peasants, and allow peasants and workers to build socialism together.
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Note it down


Using bullet points, make notes on:





•  the reasons why the NEP was introduced



•  the measures that made up the NEP



•  the successes and failures of the NEP.





When dealing with the extent to which the NEP succeeded you might organise your notes in two lists, one for the ways in which it succeeded, the other for the ways in which it failed.
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Measures


The NEP ended War Communism. It created a mixed economy, which had capitalist and socialist elements:





•  Agricultural production was left to the free market. Peasants could buy, sell and produce freely. Grain requisitioning ended and was replaced by a tax in kind.



•  Small factories and workshops employing fewer than 20 people were denationalised. Small factories were allowed to trade freely. Many were returned to their former capitalist owners.



•  Large factories and major industries remained nationalised.



•  Money was reintroduced.





The NEP was a major economic compromise. Lenin emphasised the need for a stable currency and for all factories and workshops to make a profit. Even government-run industries were expected to make money, and therefore people were expected to pay for services, such as transport, which had been available free of charge during the Civil War.


Consequences


The NEP led to political and economic stability. However, it did not lead to rapid industrial growth; nor was it wholly popular within the Party.


Political and economic stability


Ending grain requisitioning was extremely popular among the peasants. Free trade also encouraged peasants to grow more food. Therefore the famine ended, and food of all kinds became widely available in country and city markets. The growth in grain production is evident from Table 2 (see page 46).


The end of grain requisitioning led to a return of political and economic stability by ending the famine and ending a policy that was extremely unpopular with the peasants, who made up 80 per cent of Russia’s population.


Table 2: Grain production 1913–26.






	Grain harvest

	Million tons






	1913

	80.11






	1920

	46.10






	1921

	37.61






	1922

	50.30






	1923

	56.60






	1924

	51.40






	1925

	72.50






	1926

	76.80







Industrial growth


The NEP also led to industrial growth. The market stimulated production, and the government invested the money gained from taxing the peasants in reopening factories that had been closed during the Civil War. Lenin authorised a major electrification campaign which revived an industry that had effectively been destroyed by the Civil War.


By the end of 1921, Lenin argued that the NEP was not merely the right policy for creating economic growth. He claimed that the NEP was the best way to industrialise the Soviet Union and therefore lay the foundation for socialism. Lenin argued that the NEP was a form of state capitalism, the policy that the government had adopted in early 1918. In essence, Lenin argued that the NEP would allow the communists to ‘build socialism with capitalist hands’. By 1926, industrial production, with the exception of pig iron and steel, had recovered to 1913 levels (see Figure 2).
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Crucially, while taxing the peasants provided sufficient funds to reopen and modernise existing factories, it failed to provide the money necessary to build new large-scale factories. Therefore from 1926 to 1928, the industrial economy plateaued.


Scissors crisis


The NEP led to uneven economic growth. Agriculture recovered quickly. Greater food supplies led to a drop in agricultural prices. Industry recovered much more slowly, therefore industrial prices, which had been low during the famine, grew steadily. A gap opened up between farmers’ incomes and industrial prices. Trotsky nicknamed the crisis the ‘scissors crisis’, as the lines on the graph illustrating the problem looked like the blades of a pair of scissors (see Figure 3).


By 1923 the gap between farmers’ incomes and industrial prices had reached crisis point. The rise in industrial prices meant that farmers could not afford to buy industrial goods and therefore there was no incentive for farmers to keep producing large quantities of grain. The government intervened and subsidised the prices of industrial products, making them affordable to the peasants. However, this meant that there was less money available to improve the economy. In this sense the scissors crisis indicated to radicals like Trotsky that the NEP was not capable of industrialising the economy.




[image: ]




Inequality and corruption


The NEP led to the re-emergence of inequality and widespread corruption. First the NEP led to the emergence of ‘Nepmen’ traders who made money by spotting gaps in the market. Nepmen would travel the country, transporting highly desirable goods from factories or farms to the markets. The Communist Government regarded Nepmen as parasites, because they produced nothing, and made money from selling luxury goods. From time to time Nepmen were arrested by the Cheka for profiteering. However, they continued to operate until the end of the NEP. Nepmen grew rich by trading, while ordinary peasants and industrial workers stayed relatively poor in spite of their hard work.
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Corruption also grew. Gambling, prostitution and drug dealing all took place under the NEP. Prostitution was the result of wider social and economic problems, which led to widespread poverty among women in the 1920s (see pages 126–127).


Conclusion


The NEP stabilised the economy, replaced an extremely unpopular policy and therefore ended widespread rebellion. In that sense, the NEP achieved Lenin’s key goal of ensuring the Communists’ hold on power.


However, the NEP led to various problems, including slow industrial growth, an unbalanced economy, a return of inequality and the growth of various kinds of crime.


Finally, the NEP was deeply unpopular with some sections of the Communist Party. Indeed, the NEP led to a bitter debate over state control of industry and agriculture which raged during the 1920s.


4 State control of industry and agriculture


The NEP led to great debate within the Communist Party. All communists agreed that the Soviet Union must industrialise. However, there was dispute over the correct policy. Broadly, there were three positions within the Party:
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